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Friday, February 21, 2013

--- On commencing at 9:40 a.m.


MS. CONBOY:  Good morning, everybody.  Please be seated.


Mr. Cass, I see a 2013 strategic plan in front of me.  Would you like to address that?


MR. CASS:  Yes.  Thank you, Madam Chair.


When I spoke of the document yesterday, I had not seen it in some time and I probably did not describe it as well as it could have been described.  I think it was described more accurately at the technical conference, again going by recollection.


As you will see from the document -– and I am not going to say anything that will breach any confidentiality about it, but I will just make some very general comments that are not confidential in nature -- as you will see from the document, it's not an Enbridge Gas Distribution strategic plan.  It is a gas distribution strategic plan.


And the first paragraph of the document describes the various businesses that are included in gas distribution in the document.  And as can be seen from the first paragraph, there is acronym, GD, that is used through the document, and that, again, that means gas distribution.  That means the various businesses described in paragraph 1 of the document.


So there has been some information removed.  I believe it is just on two pages; I will stand to be corrected if I am wrong.  It is on pages 12 and 13, and the information that's been removed is simply information that, either on an individual or a rolled-up basis, involves these other businesses.  I don't think it would breach any confidentiality for me to mention that they include businesses like Enbridge Gas New Brunswick, Gazifere, and so on.


So those numbers relating to those businesses have been marked out simply because it's not in any way relevant to Enbridge Gas Distribution's proposed customized incentive regulation plan.


MS. CONBOY:  Thank you.


We don't have Mr. Shepherd with us yet today.  Mr. Mondrow, I see you reaching for your mic.


MR. MONDROW:  And Julie is hitting my arm.  Julie Girvan is hitting my arm.


Thank you.  The reason I go to my mic is because I did just speak to Mr. Shepherd, to ask him to -- to advise him of the document that had been provided -- He is party to the undertaking -- and the redactions, and that I expected Mr. Cass would address it briefly.  And Mr. Shepherd indicated that he will certainly come and obtain a copy of the document at his convenience, but he did not intend to make any further comment or submissions about this document at this point in the proceeding.


MS. CONBOY:  Thank you.  So if I understand correctly, you are -- is he aware that there were these additional redactions?


MR. MONDROW:  Yes.


MS. CONBOY:  Okay.


MR. MONDROW:  Although he hasn't seen them.  I described them only -- even more generally than Mr. Cass has.  I just described -- because I had just glanced at the document, described redactions of various third parties, not Enbridge Gas Distribution -- sorry, redactions related to information specific to various third parties, and not related to Enbridge Gas Distribution.


MS. CONBOY:  Thank you.  Okay, well we will accept this, as we mentioned yesterday, on a confidential basis.


MR. MONDROW:  What I did not reveal to Mr. Shepherd -- sorry, Madam Chair, what I did not reveal.


MS. CONBOY:  Sorry, just give me one minute, please.


Go ahead, Mr. Mondrow.


MR. MONDROW:  My apologies.  Just to be clear for the Panel's benefit, what I did not relate to Mr. Shepherd is that the third parties are related third parties.  I don't expect that will change his response, that at this stage he would not be making submissions on the document, but I did not disclose that to him when I spoke to him.


MS. CONBOY:  Okay.  Thank you.  I am hoping that with the fact that it is Enbridge's strategic plan that it would be understood that they would be related companies, but we will cross that -- Mr. Quinn?


MR. QUINN:  Thank you.  I just -- going through page 12 and 13, I understand and respect that providing the detail on Gazifere or other entities is something that Enbridge want to keep confidential.


However, by not providing this subtotal on that chart, it is -- I am unable to determine what is Enbridge Gas Distribution, and I guess I would like to ask the company if they could not just at least provide the subtotal of the affiliate companies.  In that way, by eliminating those, then we could see Enbridge Gas Distribution, which is the entity that is before us in this proceeding.


MS. CONBOY:  Mr. Cass?


MR. CASS:  Perhaps I am misunderstanding, but again without speaking of any confidential information, on page 12, looking at the chart, the top line is Enbridge Gas Distribution.  Then there is a series of other lines with numbers in them that one would add to get to the subtotal.  So the subtotal was removed because having the Enbridge Gas Distribution number and the subtotal, one could back out Enbridge Gas Distribution and get numbers, an overall number for what's been deleted.


But the Enbridge Gas Distribution number is at the top, so the subtotal just adds in numbers for other businesses.


MR. QUINN:  That may be my error.  I was reading that as corporate, as in in totality, but I am hearing Mr. Cass say that that is just Enbridge Gas Distribution, period?


MR. CASS:  Yes.  So where it says "EGD" that is Enbridge Gas Distribution.  Where it says "GD" that is the group.


MS. CONBOY:  Thank you.


MR. QUINN:  Okay.  That is helpful.  Thank you very much.


MS. CONBOY:  We will give that an exhibit number, Ms. Sebalj.


MS. SEBALJ:  We will call it K2.1-X.

MS. CONBOY:  Oh, actually, my apologies.  It is -- Ms. Chaplin is pointing out to me that it is in response to J1.4, which we will now add an "X" to, so that there is no confusion over its confidential nature.
UNDERTAKING NO. J1.4-X:  PREVIOUSLY DESCRIBED.


MS. CONBOY:  Thank you very much.  So we will proceed with our -- or continue with our cross-examination.


Mr. Brett, I have you down for another half hour.


MR. BRETT:  Yes.  Right, Madam Chair.


MS. CONBOY:  Thank you.
ENBRIDGE GAS DISTRIBUTION INC. - PANEL 1, resumed


Kevin Culbert, Previously Affirmed


Ralph Fischer, Previously Affirmed


Norm Ryckman, Previously Affirmed


Michael Lister, Previously Affirmed
Continued Cross-Examination by Mr. Brett:


Good morning, Madam Chair, panel.  First, I would like to go back briefly to something that was discussed yesterday, and it is the -- Mr. Culbert, it is probably a question for you.


We discussed the fact that the GTA project has a variance account around it, and therefore, as I understand it, if, for example, in 2014 you had forecast spending of 100 million on the GTA capital project and you spent 80 million, that the effect of that variance account would mean that there would be a true-up at the end of 2014, probably at the 2014 ESM proceeding, at which time the under-spend of 20 million, if that was presumably -- if that were reflected as an under-spend in rate base and therefore -- that would be effectively refunded to customers.  Customers would be made whole; is that right?


MR. CULBERT:  Yes.  Our proposal for the variance account is pretty much that platform, Mr. Brett.


The proposal is that the effect of any additional or under-spending relative to the projections that the Board has approved in the LTC, and their impacts within the requirements resident in our application -- which need to be updated, by the way, because the data in this application does not match the latest update that was done in the GTA LTC.  So we will need to update that through way of an impact statement or something at the end of the proceeding.


But the variance account proposal is where there is a difference in spending, and the revenue requirement that is included in rates is over or below what the actual spending requirement would be.  We would either be refunding monies to the customers or coming forward with a proposed clearance of additional revenue requirements.  It depends on what occurs with respect to the spend, but that is the proposal.


MR. BRETT:  Right.  Now, with respect to the other capital spending -- leaving aside the two items that we discussed yesterday that you will have variance accounts for in '17 and '18 -- with respect to the core capital spending, somewhere in the order of $400 million a year, I take it there is no comparable true-up provision there.


So if I may use my same example, if you had forecast 400 million of core spending, capital spending in 2014, and you spent 300, and let's say you had carry-on effects in rate base that were proportionate to that, as I understand it, you would not have an adjustment in 2015 for the under-spending in 2014?


In other words, your rates would remain -- your rates would have been set based on a forecast of rate base in 2014, which derives from a forecast, in part, of capital spending in 2014, and those rates, there would be no -- there would be no -- in case of an underspend, there would be no payment back to customers.  Am I right in that?


MR. CULBERT:  Our proposal is that any variance in capital spending versus our projections that are resident in the application would not be trued up through a rate-making process, i.e., none of the 2015 through '18 years.


However, any impacts of under- or overspending would be included in the actual rate base determinations in each of 2015 through '18.


So to the extent that we overspent, we don't increase our rate base in 2016.  Let's say we overspend in '15.  We don't increase the rate base in 2016 for rate-making purposes, but our actual rate base, depending on what our actual spend is, will be part of the ESM application and will determine whether or not we have over-earned or under-earned.


Under-earnings, as you know, our proposal for the ESM is asymmetrical.  If we under-earn, we're not proposing to recover any amounts related to that.  If we over-earn, our proposal is to share amounts above 100 basis points on a 50-50 basis.


MR. BRETT:  So I am right in my -- the answer to my question is, no, there would be no payment back to customers in the case of an underspend, and, therefore, an underspend, and therefore a lower than forecast rate base in 2014; correct?  There would be no refund in 2015?


MR. CULBERT:  That's correct.  I had the same discussion with Mr. Shepherd yesterday.  Our proposal is, as we have stated in our evidence, that we believe our capital projections are -- include a significant level of productivity.  We believe that.  You can have questions of the capital panel, but we are not proposing to return any monies or ask for any monies as a result of variances in spending.


MR. BRETT:  So, in effect, if I may, a corollary of that is, even if you don't have the forecast amount go into rate base, in other words, even if those assets result -- even if the underspend results in assets not going into rate base, you still are effectively collecting rates on assets that are not -- in an underspend situation, that are not used and useful.  They're not in rate base yet; is that correct?  Am I correct in that?


MR. CULBERT:  The same is true of variances on both sides of the equation.


MR. BRETT:  I understand that.  I understand that.  I understand you are very careful to say you are taking the risk of an overspend, but I would like you to agree with me that the customers are taking the risk of an underspend.


MR. CULBERT:  I would say there is risks on both sides of the equation, yes, Mr. Brett.


MR. BRETT:  All right.  Then the next question is -- and you had this discussion yesterday, but I, for one, didn't exactly understand the sort of end game here.


At the end of the five years, let's hypothesize for -- we have seen cases of underspend in the past.


Let's say we're still underspent on a cumulative basis after the end of the five years.  Is that money then returned to rate base -- ratepayers at rebasing, or what happens to that underspent amount at the end of the five-year period?  I wasn't clear on what you said.


You were talking very -- for me at least, my old ears, too quickly and I didn't get -- I didn't hear you to say it was going to be refunded.


MR. CULBERT:  The impact of an underspend, again, or overspend -- and I know you don't like hearing me say that, but the impact of any variance would be resident within the actual rate base amounts that start the process for budgeting for the rebased fiscal year.


So if we underspent by $200 million during the term, that would be resident in my net book value and rate base that starts the process for the rebasing year.


MR. BRETT:  That would be fully disclosed and spelled out, and one would be able to tell easily --


MR. CULBERT:  Yes.  As in my comments yesterday, if the Board accepts our proposal as it is constituted and we have a sight line to what our projections of rate base are, which are constituted in our application right now, you would easily be able to see at the end of the five-year term what the actual net property, plant and equipment value is relative to these forecasts or relative to whatever forecast the Board approves constituted in this matter.


So you would easily be able to see variances that have occurred.


MR. BRETT:  It's just a simple question.  If hypothetically we were on a cost of service, annual cost of service plan --


MR. CULBERT:  Yes.


MR. BRETT:  -- and you had an under-spend as I described, you would agree with me that in the subsequent year it is -- one could make an adjustment to the rate base going forward to your request to reflect the under-spending in the first year?


In other words, in the next year, if it were a cost of service year, you could make the adjustment right away.  You would agree with that?


MR. CULBERT:  In periods of cost of service treatments, which are reset annually, yes, that automatically occurs.  What we are forecasting is five years of spend to be fixed now, and we're taking the risk on those forecasts being accurate.


MR. BRETT:  Okay.  Can I ask you to turn up just briefly -- maybe you could put this on the screen -- Board Staff response TCU1.11.  That was a recent document that was filed, Board Staff response to TCU1.11.


Do we have that?  Do you folks have that up there on the panel?


MS. SEBALJ:  It is also in Staff's compendium.


MR. BRETT:  Here we go.  It is on here now.


Now, as I understand it, this is a Board Staff response to a question that originally was asked to Concentric and which Concentric declined to answer, and so the Board Staff was able to have their expert provide the calculations that Concentric weren't able to provide.


That's my rough interpretation of this first sentence, the first page.  Is that right?


MR. LISTER:  My view is that it wasn't that Concentric declined to answer.  They did provide a response.  They preambled their response with their view.  This Board Staff response took a different view.


MR. BRETT:  But my question was that the Board Staff asked for a composite cost, capital cost plus operating cost amount, for each of 2010 and 2011 which would compare Enbridge with the 25 gas customer quote-unquote sample group, or whatever you call that.


That Mr. Coyne did not provide; right?  He had a lengthy reply, a lengthy preamble.  He did not supply the question -- he did not answer the question that was asked.  Is that not right?  I don't need a long answer.


MR. LISTER:  Sure.  Sorry to take a different view.  I believe he did answer that.  There was some tables at the back of the initial response that did have individual years, or at least that was my understanding, but by all means I would invite you to ask the question to them.  They did prepare the response.


MR. BRETT:  All right.  Then if I turn over to page 2 of 3, it is a unit cost ranking and it is a cost per customer.


This would put Enbridge down at about the middle.  Do you see that?


MR. LISTER:  I see that, yes.


MR. BRETT:  And do you agree with that?


MR. LISTER:  Again, this is based on Concentric's analysis, so I would be more comfortable if you put the question to Concentric.


MR. BRETT:  You would give me the same answer, I guess, if I asked you the question on page 3 that shows Enbridge -- this is cost per unit of volume -- sorry, this is cost per customer for 2011.  The previous one was for 2010.


It shows Enbridge as 21st in the list of 26.  So you would say I should ask Mr. Coyne that?


MR. LISTER:  I would provide the same answer.


MR. BRETT:  You would agree with me, though, that these rankings that Board Staff's analysis -- Board Staff's expert has produced are somewhat at odds with the description that is found in -- from time to time in your evidence and in Mr. Coyne's evidence of Enbridge being a top performer.

According to these tables, Enbridge is not a top performer; is that not correct?

MR. LISTER:  I think, yes, you are correct in saying that these results show a materially different outcome, but again I would invite you to put the question to Concentric, who performed the analysis.  And I know that they have some views on the data and the data interpretation.  So, again, I would have to give it to Concentric to respond.

MR. BRETT:  All right.  Can we go to another topic?  And that is the question of -- in your evidence, you state that as a gas utility, you are not required to comply with the specific IR -- RRR categories that the Board has laid out, right?  Your evidence is that you are not required to abide by that?

MR. LISTER:  Just a clarification.  Are you referring to the Renewed Regulatory Framework for Electric --


MR. BRETT:  Yes.  I am asking -- your evidence to me says that since you are a gas utility, you're not subject to the Board's guidelines with respect to the Renewed Regulatory Requirement.

MR. LISTER:  I believe that is correct, yes.

MR. BRETT:  And by the same token, I assume the corollary is true, that you are not entitled, necessarily, to use any of the categories that the Board has set out for the Renewed Regulatory Framework?  You are a gas utility.

MR. RYCKMAN:  The way I would respond to that is as the applicant, we are entitled to bring forth an application that meets the needs of our business.  So although the RRFE is for electric distributors, it has informed our thinking as we have developed this application.

MR. BRETT:  I don't doubt it has informed your thinking.  That's clear, but my question is different.

You have said a moment ago you agreed with me that you are not subject to the RRR because you are a gas utility.  I am suggesting to you -- I don't suggest for a moment you won't try and bring forward a plan which is advantageous to your business and your shareholder, but you are not entitled to the use of any of the options that the Board has explicitly said the electricity distributors may use.

For example, the Board has -- one of its categories is for certain, as I recall, small electricity distributors, there is a sort of an automatic plan that they can have that renews their rates every year.

You are not -- you wouldn't suggest you are entitled to that?

MR. LISTER:  I think in response to that, I would add to what Mr. Ryckman already provided and I think we expressed in our evidence.  It is not just that it informed our thinking, the RRFE, but it shows an evolution in the thinking of the Board with respect to incentive regulation.  And in fact, that is how they present the document.  So from our perspective, it is a very relevant document.

MR. BRETT:  You would agree with me that it addresses the electric industry?

MR. LISTER:  Yes.

MR. BRETT:  And you would agree with me that the Board has made -- the Board has made some decisions in the past that relate to -- on gas utility IR plans, right?  The Board has made some decisions recently?

Let me help you a bit.  They have approved a Union -- the Board has approved a Board –- a Union settlement agreement in the last few months, right?

MR. LISTER:  That's correct, yes.

MR. BRETT:  On a I-X nature?  And the Board has approved two previous five-year settlement agreements, one for Union, one for Enbridge; correct?

MR. CULBERT:  Each of which were different IR mechanisms.

MR. BRETT:  Each of which were different IR mechanisms, but both of which were IR mechanisms; correct?

MR. CULBERT:  Which -- as is this mechanism as well; this is a custom IR mechanism.

MR. BRETT:  This is not a I-X mechanism?

MR. CULBERT:  No.  It is a custom IR mechanism.

MR. BRETT:  And the three -- maybe I misspoke.  I apologize.  The three IR plans that the Board approved were all I-X plans; correct?

MR. CULBERT:  In the past, they were.  That's correct.

MR. BRETT:  In the past, they were.

Now, the Board has made -- if I'm... do you agree with me that the Board -- the Board's statements -- the Board having made those decisions, the Board's pronouncements on IR in the gas business really come out of the Natural Gas Forum; correct?

MR LISTER:  That is correct.  I believe that is an input.  But as we expressed, the RRFE report clearly indicates that it is an evolution in the Board's thinking towards incentive regulation.

I don't think it is any one thing that has informed the Board.  I believe it is all of these decisions and settlements, the RRFE, the NGF as well.  Enbridge and Union were subject to TPBR plans, or targeted performance benchmarking plans, in the early 2000s.  And I am sure those informed the Board's thinking as well.

MR. BRETT:  That is your view.  I guess I am asking a little different question.

I am asking you:  Apart from the decisions the Board's made on these three cases, and apart from some clear pronouncements they made in the Natural Gas Forum, I am not aware of any statements the Board has made since then on what shape natural gas -- what shape the IRM plans of Union and Enbridge should take place.

Are you aware of any such statement, explicit statement about gas utilities?

[Witness panel confers]

MR. LISTER:  No, we're not aware of any explicit statement that would prevent Enbridge from coming forward with a customized IR plan.

MR. BRETT:  You would agree that it is your task, the onus is on you, to convince the Board that what you are putting forward is something that can properly be considered an IRM plan?

MR. CULBERT:  That's why we're here today.  That's correct.

MR. BRETT:  You and I can agree on that.

I've got only two minutes and I don't intend to go over, like a good soldier.

If I may ask you very broadly, you answered the question in your evidence, why an I-X is not appropriate.  And you largely -- am I right in suggesting that the way you have answered that is to have Mr. Coyne run a series of simulations -- five of them in total, I believe, which are a number of places in the evidence.  We don't need to turn them up for purposes of this question.  But in each of those cases, he finds that using an I-X model, whether you use it in a bare form or with a Y factor treatment for capital or with an ICM module treatment for capital, he finds that none of those make you the money that you want to make; is that fair?

You don't get the return.  You don't get the return on capital that you feel you are entitled to?

MR. RYCKMAN:  I think there are a few things to comment in that regard.

MR. BRETT:  Maybe you could do it briefly and to the point, because I have about one minute left.

MR. RYCKMAN:  I will try to do that.  We have conducted analysis ourselves, and have an understanding of the challenges that an I-X framework presents for the business and the needs of the business on a go-forward basis.  Concentric has done some analysis as well, and would indicate that our thinking is correct in that regard.  So -–

MR. BRETT:  You have done some of your own, corroborated by Concentric?

MR. RYCKMAN:  We have done some analysis of our own, yes.

MR. BRETT:  You have you have not done an analysis that I can find, have you, that shows what the financial consequences of using a I-X proposal are?

In other words, would you have a liquidity problem?  Could you not pay your bills?

MR. RYCKMAN:  We do have analysis and Mr. Fischer can help us with that.

MR. BRETT:  Can you pay your bills?

MR. RYCKMAN:  We require certain resources to manage the business.

MR. BRETT:  You do that.  And while Mr. Fischer is looking, the real question in my mind is:  First of all, have you got a study that shows you can't pay your bills?
In other words you have a liquidity issue if you don't get this, if you can't do what you propose to do.


Secondly, have you got a study that shows that in some sense that you are going to be offside either your bond covenants, your debenture covenants, your bank line covenants?  Have you got a cash flow study that shows you are going to be in breach of your financial arrangements and which would impede your ability to raise further capital?  I haven't seen such a study.


I have seen little bits of paper dealing with how much less money you are going to have in your pocket because your rate of return is not going to be 10.5; it is going to be 9.2 or some such thing.  What have you got in addition to that, if anything?


MR. FISCHER:  Mr. Brett, no, we have not completed a study like that, but --


MR. BRETT:  You have not?


MR. FISCHER:  No, we haven't.  But just to follow up in terms of Mr. Ryckman's comments, our analysis is contained in Exhibit A, tab 1, schedule 3 in terms of six scenarios that we looked at.


MR. BRETT:  Yes, that I am aware of.  That's what I'm referring to.


MR. FISCHER:  Really, the headline in terms of that exhibit is the challenges of I-X.


MR. BRETT:  I know the challenges.


MR. FISCHER:  So we completed the analyses looking at various scenarios of I-X with Y factors and without, and then Concentric did a similar analysis, but their analysis was focussed on capital.  And in addition to the analysis that we completed, they also analyzed the impact of the incremental capital module, ICM, available to electric utilities, which is something that we did not do.


MR. BRETT:  Thank you very much.  Those are my questions.


MS. CONBOY:  Thank you, Mr. Brett.

If I understand the order correctly, Mr. Janigan, you are next with a half an hour worth of cross.

Cross-Examination by Mr. Janigan:


MR. JANIGAN:  Thank you very much, Madam Chair.


Panel, I understand from your evidence and from your testimony here that the custom IR that you put forward that is required and -- you cannot use an I versus X plan because of the risk that the company won't be able to meet its obligations and earn its allowed rate of return under an I-X plan.  Is that correct?


MR. FISCHER:  I think that sums it fairly, yes.


MR. JANIGAN:  And in looking at the evidence, there is a number of different risks that seem to be identified.


One was the risk that inflation won't be able to cover your O&M under an I versus X plan; I-X plan.


MR. LISTER:  Sorry, I am not sure that is entirely accurate.  We looked at it on an aggregate basis.


So our view was that an inflation minus X -- our view is that an inflation minus X regime at reasonable levels of I and X cannot recover the totality of costs.  That includes O&M, depreciation and all of the other costs that are required to run the business.


MR. JANIGAN:  Let's put it this way.  The Union I versus X plan would not cover -- the inflation would not cover O&M.


MR. CULBERT:  Yes.  As Mr. Lister said, the analysis we performed adjacent to the analysis we talked about yesterday with Mr. Shepherd leaves us short -- if we apply a Union I-X application versus our projections of costs leaves us short by 300-plus million dollars.


But that is the entirety of our cost structure, not just O&M.  It is depreciation, carrying costs on the rate base values, income taxes, O&M.  It is the complete picture of our allowed or revenue requirement, as we know it from cost of service.


MR. JANIGAN:  Looking at the I versus X again, there is a risk under a Union -- for example, a Union-type plan that you won't be able to make the needed system reinforcement and repairs, extensions, relocations in terms of capital expenditures; is that correct?


MR. CULBERT:  Could you repeat the question?  Sorry, there is a risk that the...


MR. JANIGAN:  The risk in adopting an I versus X plan that you will not be able to make your allowed rate of return at the same time as doing needed system reinforcement, repairs, extensions and relocations; is that correct?


MR. CULBERT:  That is a fair statement.  If the amount of money we need to spend is exactly as we have projected, which we believe it is, we would not meet a return on equity that comes out of the Board's formula, absolutely.


MR. JANIGAN:  Now, would you agree with me that your closest comparator, in terms of business risk, is Union Gas?


MR. LISTER:  I think that is a fair statement.


MR. JANIGAN:  Thank you.  Now, I'm a little bit at sea in terms of your answers with respect to your study of the Union Gas plan.


But how can you account for the fact that Union Gas seems to be content to muddle along with an I versus X plan, whereas you need another $300 million and a custom IR plan in order to meet your obligations and your allowed rate of return?


MR. CULBERT:  Well...


MR. LISTER:  I was just going to direct your attention.  A similar question was asked in an interrogatory and we provided a response.  I am just searching for the issue number.  I believe it was A1 and SEC number 6.  I might have the issue number wrong there.


Yes, Union A1, SEC 6.  And the question there asked for providing details of material differences between Union Gas that might justify higher rates.  I understood your question to be similar to that.


So the response provided there indicates that it is very difficult for us to speak for Union as to why they might have agreed to the plan that they did.


And it is very difficult for us, on a line-by-line, item-by-item basis to speak to what informs Union's thinking and what the state of their assets might be, and how they're approaching legislative requirements and such.


So certainly this response indicates that.


MR. JANIGAN:  So I am given to understand that in this response, under the individual bullets, this encapsulates the differences that Enbridge believes may drive the reason why Enbridge requires the custom IR plan with the additional amounts of money?


MR. LISTER:  I think you are maybe giving it too much discreteness, if that is a word.


I think what we indicated in the response was that, in the second paragraph, we are not able to provide a detailed account of all material differences, and then in the third paragraph, there are some differences and, at a very high level, here are some examples of the differences.


So, it wasn't a discrete itemization of bullets that required -- that result in a requirement for higher rates.


MR. JANIGAN:  Understand.  Now, as I recall, two years ago both Enbridge and Union went before the Board to seek a thickening of their equity based on what was perceived to be additional risk or a change in their business risk.  Do you recall that?


MR. LISTER:  I do.  That was for the 2013 rebasing case, yes.


MR. JANIGAN:  And as you will recall, at the time Enbridge filed a report by Concentric indicating that a fair return required responding to risks which were identified as volumetric change in terms of reduction of customer use, complexity in system size, and environmental and technological developments, in particular, things like green energy and whatever that were imposing additional costs.  Do you recall that?


MR. LISTER:  I do.  And just to qualify, I think this case very much indicates many of those risks at a detailed level.


MR. JANIGAN:  Well, at the time, I don't recall quite the degree of emphasis on the fact that an I versus X program would not be able to meet the needs of Enbridge in the future.


MR. LISTER:  It was -- my recollection is that was -- I think what you are referring to is the pre-filed evidence.  Those were the three points.


As the case evolved, there were certainly items that addressed how, for example, DBRS and the rating agencies view incentive regulation as compared to cost of service.


My recollection is that there was ample evidence to show DBRS, in particular, viewed I-X as a riskier proposition for utilities.


MR. JANIGAN:  And as I recall, Mr. Lister, the Board rejected the evidence that there has been a substantial change in business risk.  And, presumably, if much of what was ventilated here today was discussed in that proceeding, this is rearguing the same case, is it not?


[Witness panel confers]


MR. LISTER:  We haven't made application in this case for a different equity.  So we haven't made the argument that a higher risk would --


MR. JANIGAN:  Yes, but you're making an argument that you are facing the kind of risk that will -- unless you get your kind of plan, you're not going to be able to meet your allowed rate of return or your responsibilities?

MR. CULBERT:  We are making an argument about certain things that have changed in circumstance with respect to the risk we face under an I-X proposal going forward.


There have been changes in circumstances versus our first gen IR.  We are all aware that our average cost of debt that was resident in existing rates going into our first gen IR was at a fairly high average because we had some historical debt that was at high rates.


In that term, we were aware that the forecast of interest rates going forward was going to provide some cushion as offsets to things like depreciation expense increases that aren't matched by inflation.


So we are aware of various levers.


Going forward, we're of the opinion that our debt costs have been averaged down to such a degree we're not going to see interest reductions in the same vein that we did during the first IR term, but yet our depreciation expense increases are increasing dramatically, and an I-X solution just does not cover those things off.


MR. JANIGAN:  But you would agree with me you ventilated a lot of these concerns about the inability of an I-X to meet your risks in that particular proceeding, and the Board rejected it?


[Witness panel confers]


MR. LISTER:  Well, I think this is an entirely different case altogether.  We are not making a proposition that a change in risk therefore requires a change in the equity ratio.  And we are very clear on that.


And I think, quite simply, what we're saying is that an I-X regime, given the capital spending requirements of the business -- and there will be a capital panel who will be happy to address all of those requirements in great detail if you wish -- given those capital spending requirements, mathematically an I-X outcome couldn't provide the utility an opportunity to earn a fair return.


MR. JANIGAN:  Well, do you agree with me, though, Mr. Lister, two years ago we had Concentric producing a report that said the increased risk to the company requires a change, a thickening of equity?  And now we have, two years later, a report from Concentric that says the increased risk associated with virtually many of the same things requires you to create a custom IR?


I mean, isn't this coming through the back door what you couldn't get through the front?

MR. RYCKMAN:  No, it is not.


If I can just add to that, again, as Mr. Lister has stated, we are not seeking a change in the equity thickness.

We have learned much about the business over the last few years, and those learnings are embodied in the evidence that is before the Board now.


So we have business requirements, very real business requirements that we're facing, and we can't stick our head in the sand and pretend that they're not real.  We have to address these things.  And our budgets have been developed in a way that enables us to address those issues with the system.


It is an aging infrastructure -- the capital panel will be able to give you insight into that -- and we do need to manage the business on a go-forward basis.  So I see them as two very different things.

MR. JANIGAN:  Well, as I understand it, your current level of equity thickness is 36, as I recall, 36 percent?

MR. LISTER:  That's correct.

MR. JANIGAN:  And Union's is the same?

MR. LISTER:  As far as I understand, yes.

MR. JANIGAN:  And taking sort of a common sense approach on this, one would ordinarily indicate that the business risk of both of those utilities is likely the same?

MR. LISTER:  Well, we haven't made a case that the business risk is or is not the same as Union Gas.

We have had a very discrete level, as Mr. Ryckman just pointed out -- Mr. Ryckman just pointed out at a very detailed level, we have created a capital spending plan to suit the needs of our business and the requirements of our business.  And I think that is really the bottom line there.


What we're saying is an I-X, with reasonable levels of I and X, could not produce an outcome that would allow us an opportunity for a fair return.


MR. JANIGAN:  Would you agree with me that Enbridge Gas is probably the lowest-risk natural gas distribution utility in Canada?

[Witness panel confers]

MR. LISTER:  I am not sure we're in a position to readily agree with that.  We haven't undertaken a study at this juncture that would allow us to draw that conclusion.

MR. JANIGAN:  Okay.  Now, as I recall from your conversation with Mr. Shepherd yesterday, that on a normalized basis, Enbridge has exceeded its Board-approved ROE each year from 2012 -- 2000 to 2012 and again in 2013, and I think that was on pages 28 and 29 of the transcript.  Is that correct?


MR. CULBERT:  That's correct.  The exchange happened.


We did file the response to Undertaking J1.3 today.  I am not sure if everybody has received that.

In that undertaking, Mr. Shepherd had asked if we could restate what the achieved normalized rates of return were for the fiscal periods 2010 through '12 as a result of the accounting error.  So we have provided that data.


MS. GIRVAN:  Could we see that?  Sorry, I don't think any of us have seen it.


MR. CULBERT:  Sorry, I thought it was being filed this morning.  I apologize.


MR. CASS:  I don't have it, Madam Chair.  We don't have it.  Mr. Culbert has it.  He is a little ahead of us.


MS. CONBOY:  You will all have a chance to stretch your legs and we can get that undertaking over the break.


MR. CASS:  We will get it at the break.


MR. CULBERT:  My apologies.  But, yes, you are correct, Mr. Janigan.  It does --


MR. JANIGAN:  I wonder if you could turn up in our compendium the materials on page 2.  And this is evidence from Dr. Booth in the proceeding that we were referring to earlier.


MS. CONBOY:  While you are turning that up, Ms. Sebalj, could we give that a number, please?


MS. SEBALJ:  Yes.  It's K2.1.
EXHIBIT NO. K2.1:  VECC Cross-Examination Compendium.

MR. JANIGAN:  Thank you.  The evidence of Dr. Booth.


Do you agree that Dr. Booth's chart here shows that in no years since 1985 has EGD failed to earn its allowed ROE on a normalized basis?

MR. CULBERT:  Yes, we agree.


MR. JANIGAN:  Okay.  And EGD or its predecessor was under a targeted O&M PBR plan from the period 2000 to 2002, and as well, a five-year IR plan from 2008 to 2012; is that correct?

MR. CULBERT:  That's correct.

MR. JANIGAN:  And so for eight of the 13 years from 2000 to 2012 inclusive, EGD was under some form of incentive regulation?

MR. CULBERT:  Correct.

MR. JANIGAN:  Now, if we look at page 3 in VECC's compendium -- and this is taken from the exhibit at the top of the page, set out at the top of the page -- do you agree that on a total factor productivity basis when you look at the period from 2000 to 2011, the sub-period 2000 to 2007 or the sub-period 2000 to 2011 on a TFP basis, EGD was less -- showed less improvements in productivity in 2011 than was evident in 2000 or 2007?

MR. LISTER:  I'm sorry, in 2011, or over the period 2007 to 2011?

MR. JANIGAN:  Between the 2007 to 2011.  It showed it was less productive in the 2011 period than it was in 2000 or 2007?


MR. LISTER:  Yes.  What it shows is that for all companies across all various peer groups that were analyzed, there was a reduction in productivity.  And I believe the Concentric report speaks about some of the issues that were going on, such as economic recession and other factors that changed the level of growth in inputs and outputs.


But yes, the answer to your question is there was a difference between the two periods.


MR. JANIGAN:  Now, in referring to page 6 of the compendium, it is a BOMA interrogatory.  The extent -- as I understand it, the extent to which the 2013 rebasing was used as a starting point for the current proposal is limited to using the approved 2013 values for PP&E, rate base, and capital structure; is that correct?  Did you say yes?  I'm sorry.


MR. CULBERT:  What the response says is, certainly for the PP&E value, that was the starting point, the 2013 Board approved.  Part (b) refers to the 9 and 3 forecast for each of O&M, volumes, unlocks.


They were informed -- the 2013 through '18 forecast were informed by the 9 and 3 results, but as I mentioned to Mr. Shepherd yesterday, if you look at O&M and capital, in fact in 2013 -- and I know I haven't produced the utility results yet, which I will be doing some time next week -- our capital spend and O&M are actually -- capital spend is actually above the 2013 Board-approved.  So that has not been put into our forecast for 2014 through '18.


So the company, its rate base forecast for 2014 and 2018 -- through '18 are understated by that additional amount of spend that has occurred, and our O&M in the 9 and 3 and our actuals at the end of the year was in fact spot-on the 2013 Board-approved numbers.


MR. JANIGAN:  But you are not proposing to use the 2013 O&M as a starting point for the O&M -- for the IR plan, I understand.  You built your own projections?


MR. CULBERT:  The projections of O&M for the years going forward, they don't use the 2013 O&M as a start point, but that certainly informs what we expect our spending to be, because our actuals are pretty much spot on the 2013 Board-approved.


MR. JANIGAN:  Now, in page 12 of the compendium, is it a fair summary that EGD's position -- I think we dealt with this later -- is that these large capital expenditures that are expected over the period of 2014 to 2018 for the GTA project, Ottawa integrity and replacements would generate a large capital expenditure-driven deficiency cumulatively by 2018?


MR. CULBERT:  Absent getting an increase in rates, would they generate a deficiency?


MR. JANIGAN:  Yes.


MR. CULBERT:  Yes, of course.


MR. JANIGAN:  And if through Y factors, capital trackers, deferral accounts, rate riders, et cetera, EGD were made whole for all prudent incremental capital expenditures not covered by the I-X escalation, would EGD be prepared to operate under an I versus X plan similar to Union's plan where the escalator would be applied to non-pass-through, non-capital expenditures?


MR. LISTER:  I think we highlighted in our pre-filed evidence that -- and I believe it was also a topic of conversation at the technical conference -- that certainly adding on a lot of Y factors could accomplish the job, as you are indicating.


Our concern and some of the criticism that we have either heard or intimated to us is all of these built-on pieces make the -- first of all, make the plan less comprehensive, more complicated, and by all accounts we were not expecting that stakeholders would want to have all of these add-on pieces.


So it was our view that the only way to appropriately address all of the spending requirements would be through a customized IR plan.


MR. JANIGAN:  To what extent did the Concentric report drive the development of both policy and inputs into your custom IR plan?


MR. LISTER:  I think the only way it drove anything in terms of EGD's thinking was we relied on Concentric for appropriate or reasonable values for the I and the X factor, which we have used throughout our analyses, that lead us to the conclusion that I-X can't deliver what we require going forward.


MR. JANIGAN:  Thank you.  If you could turn to page 13 of the compendium, paragraph 14 indicates that the main motivation for the SEIM -- I hope I am pronouncing that correctly -- is to reduce the utility disincentive to invest in productivity advancements in the later years of an IR term, and the disincentive being that the utility earnings may be clawed back upon rebasing; is that correct?


MR. LISTER:  Mostly.  A slight qualification.  That is how -- this paragraph, in particular, is describing that that is how the Alberta Utility Commission viewed the usefulness of an ECM, and we had some conversation yesterday.


Our view is it does accomplish that, but it also accomplishes -- it gets to the heart of the criticism that during an I-X, or any incentive regulation plan, a company -- a utility may have an incentive to pursue short-term cost-cutting or cost deferrals.


We think it actually addresses both of those issues, but, yes, this is one of the issues it addresses.


MR. JANIGAN:  So the clawing back refers to the resetting rates lower after the IR period to costs, isn't that correct, whenever that term "clawing back" is used?


MR. LISTER:  That's correct.  So a stream of benefits would ensue an investment, and the utility wouldn't be afforded the opportunity to benefit from the full stream of benefits.  So they would be effectively rebased or clawed back at rebasing.


MR. JANIGAN:  Okay.  So, in effect, in putting in this plan at a materially higher level, you are effectively clawing back some benefits from ratepayers that should accrue to those ratepayers?


[Witness panel confers]


MR. LISTER:  So if I understood the question correctly, our position is very much that this mechanism is intended to directly respond to the Board's objective of having utilities generate long-term sustainable efficiencies.


So our view is that if we can show to the Board and to stakeholders that we have indeed accomplished that, that the utility should stand to receive some benefit, yes.


MR. JANIGAN:  Okay.  So let's assume that your 2014 and '18 plan ends and you rebase in 2009 on your building block basis and apply for a multi-year IRM plan for 2020 using the building block approach that largely ignores the 2009 rebased requirement.


How can there be sustained benefits for ratepayers?


MR. LISTER:  Well, our view in our presentation of the annual productivity initiatives that we've proposed to file annually would show that certain investments have generated long-term benefits for ratepayers.


So what we would be effectively saying is that if not for these investments, the sought revenue -- or the rebasing requirement -- revenue requirement at rebasing would otherwise have been higher.  And that is the burden -- the burden of proof of that is on us to present to the Board and to stakeholders that, in fact, our projects have or reasonably -- could forecast to reasonably provide that stream of benefits.


MR. FISCHER:  If I could just add to Mr. Lister's comment.


So I think an important distinction between our proposed SEIM and the implementation of a similar mechanism in Alberta is the fact that we have the test of present valuing what efficiency mechanisms or projects that we have put in place.


And so when it comes time to rebase after the end of the IR term, we will have demonstrated and we will need to demonstrate during the rebasing year that in fact those sustainable efficiencies are sustained beyond the end of the IR term.


So we thought that was an important improvement, in quotes, in terms of how an efficiency carry-over mechanism was implemented in Alberta.


MR. JANIGAN:  But those efficiencies may be avoided costs, which are going to be very difficult to prove?


MR. LISTER:  Certainly some benefits might be avoided costs,  but our view is that that doesn't mean that they shouldn't be pursued and pursued rigorously.  If they result in avoided costs for ratepayers, in our view, that is an excellent outcome.


MS. CONBOY:  Five minutes, Mr. Janigan.


MR. JANIGAN:  Thank you very much, Madam Chair.  On page 14 of the compendium, you provide two examples in your Exhibit A2, tab 11, schedule 3, page 11.


Looking at example 2, suppose the actual average ROE is achieved by a time profile that has 10.9 percent actual in year 1, 10.5 percent in year 2, 10.5 percent in year 3, 10.5 percent in year 4, and 10.1 percent in year 5.  So you have an actual ROE would be 10.5 percent over the IR term.


Would you take that, subject to check?

MR. LISTER:  Yes.

MR. JANIGAN:  There would be no share of the excess earnings for ratepayers under EGD's ESM proposal; correct?

MR. LISTER:  Assuming that the -- in this example, the average allowed is 10 percent, that's correct.  At no point would we pierce the 100 basis points.


MR. JANIGAN:  For this hypothetical time profile, can you undertake to provide an analysis of what the ratepayer benefits would have to be after the IR term ends in order to justify the payment on the basis of benefits to the ratepayer of the SEIM bonus to EGD in this case?

MR. LISTER:  Let me try it this way.  I believe that's what the paragraph below attempts to describe, which is that in this condition, whether it is 10.5 across the board or the profile that you have suggested, if the average to the actual turned out to be -- the differential turned out to be 0.5 percent, then the second paragraph describes the condition where EGD would have to prove that the benefits -- I'm sorry, step 2, which is that page and beyond in the actual piece of exhibit, described that it would then be incumbent or the burden would be with the utility to prove that the benefits to ratepayers exceeded that amount, the total of, I believe it was, $3.6 million.

MR. JANIGAN:  It would be at that level that EGD would be able to receive their share?

MR. LISTER:  That would be one of the conditions, among several other conditions that we have indicated would all be part of the SEIM mechanism.

So the first test would be:  Can we prove that there is greater ratepayer benefit than the reward?  The second test is:  Can we show that SQR performance is not materially degraded?  And the third test is:  Can we show that performance metrics outcomes have not been -- have not degraded over the term of the IR plan?

If all of those conditions were met, then EGD would seek to have their reward.

MR. JANIGAN:  On page 15 of my compendium, on the first page, there is reference to actual after-earnings sharing ROE.


Can you confirm that this refers to actual normalized ROE after earnings sharing?


MR. CULBERT:  That's correct.

MR. JANIGAN:  Thank you.  One last question.

Yesterday in your conversation with Mr. Shepherd, you indicated that of the 300 million, 130 million of the difference between your plan and the Union plan arose as a result of your treatment of ROE; did I get that correct?

MR. CULBERT:  Yes.  My conversation was obviously within the context of a view of what Union's model would produce as a revenue stream.


Regardless of that view, our application includes within it an amount of revenue requirement of $130 million as a result of forecast ROE changes.  That's correct.

MR. JANIGAN:  And that would not be present in the Union -- using the Union model; is that what -- was that what you said?

[Witness panel confers]


MR. CULBERT:  Yes.  That is sort of my point.  Union's model doesn't operate off of projections of any costs, as we all know.  Its revenue stream is decoupled from costs.


So I couldn't tell you what is or is not resident inside of Union's I-X.  As Mr. Fischer mentioned yesterday, one could assume that the ROE that is embedded in their base rates is being inflated by the I-X element of their application.

So they're kind of apples and oranges.


MR. JANIGAN:  But that 130 million is above whatever inflation is in –-


MR. CULBERT:  Like I said, the $130 million, I couldn't say what that amount would be relative to an I-X solution, because Union's model isn't calculating ROE as part of its -- its increases in allowed revenues.


But one could assume that their ROE, if it is at 893 like ours is in base rates, that it is really going up in terms of what the escalator amounts are.  If they're getting -- I don't know what the number is.  If they're getting 150- to $200 million of increases in revenues over the term, one could assume that the ROE is being inflated to some degree relative to some rate base, but I don't know what that is.

MR. LISTER:  It would very much depend on what Union's rate base is, what their spending plans are, as Mr. Culbert has just indicated.


The 130 may not be transferable to both utilities.


MR. CULBERT:  The 130 is relative to our forecast rate base and equity levels and changes in ROE versus the 2013 Board-approved rate of return.

MR. JANIGAN:  Thank you very much.


Those are all of my questions, Madam Chair.  Thank you very much.


MS. CONBOY:  Thank you very much, Mr. Janigan.


Before we move to a break, I was wondering, Mr. Cass, if we could get an estimate -- there was one undertaking in particular, and I think it was 1.8, and that was with respect to the table on calculation of the SEIM and the net present values.


Do you have an ETA for that one?

MR. CASS:  Before coming to the hearing room this morning, Madam Chair, I had inquired, and I think that one was expected to be ready by the break this morning, if I recall correctly.


MS. CONBOY:  Great.  Thank you very much.

We will rise now for 20 minutes and come back --


MS. SEBALJ:  Madam Chair, can I interrupt for one second?


MS. CONBOY:  Yes, sure.


MS. SEBALJ:  Mr. Shepherd has communicated with me, and according to his most current e-mail -- and we are going to chat on the break, but I thought that he was hoping to have a few minutes to cross-examine on the strategic plan at some point.


But I think he will be here after the break to speak to that, but I just wanted to note that.


MS. CONBOY:  Thank you for the heads-up.


We will come back at five after.  Thank you.
--- Recess taken at 10:47 a.m.

--- On resuming at 11:12 a.m.


MS. CONBOY:  Thank you.  Please be seated.  Before we get started with cross-examination, and Ms. Girvan was up next, I believe we have an issue about the strategic plan to discuss.  Mr. Shepherd.

Submissions by Mr. Shepherd:


MR. SHEPHERD:  Yes, Madam Chair.  I don't intend to spend much time on it, but I was surprised it was filed this morning without any notice to me, because Mr. Cass would have known I wasn't going to be here and --


MS. CONBOY:  Sorry, could you repeat that?


MR. SHEPHERD:  I said I was surprised it was filed this morning without any notice to me, as I was the one who asked for it, and with redactions contrary to the Board's rules.


MS. CONBOY:  Okay.


MR. SHEPHERD:  So I have two comments.


First -- three comments, I guess.  The first is I have looked at it now and the redactions I have no problem with.  However, I don't think utilities should be allowed by this Board to simply ignore the Board's rules.


The Board has a clear rule you file it unredacted, and Enbridge basically didn't.  And I don't think that should be countenanced even though they're minor.  That is the first thing.


The second thing is I have looked at the rest of it.  Once you redact those, I have looked at the rest of it, and there doesn't appear to me to be anything in here that is anything that is not already in the application in one form or another.  Some of the numbers are different, but they're not different in kind, and so they should not be confidential.  I see nothing in this that should be confidential.


And the third is I would like to spend five minutes and ask some questions about it of these witnesses, and, frankly, I would rather not go in camera, but if the document is confidential, I would have no choice.  So I am asking that the Board rule that the document is not confidential.


MS. CONBOY:  Thank you.  Mr. Cass, are you prepared to address that or reply to that, please?
Submissions by Mr. Cass:

MR. CASS:  Yes.  Thank you, Madam Chair.


Madam Chair, if I may put it this way, in my submission it is not whether -- the issue is not whether Mr. Shepherd can look at this document and conclude that, in his view, something in here is not confidential.  In my submission, the underlying point is this is a strategic plan that clearly, on its face, was created during a confidential process, a confidential planning process.


The point is that organizations, in carrying out their strategic planning -- and I am sure this applies to many organizations, perhaps including the Board itself -- do that in a confidential fashion on the expectation that what they do will not be aired in a public forum.


The whole point of being able to plan on a confidential basis is to be able to have an expectation that that confidentiality will be maintained.


So, in my submission, the point is that the document was prepared in a fashion where there was an expectation that it would be maintained in confidence.  To not maintain that confidence puts a chilling effect on strategic planning by any organization that appears before this Board, with the thought that its confidential planning processes are not going to be protected on a confidential basis.


So it is a fundamental point about the process and about protecting the confidentiality of a process of strategic planning and not putting a chilling effect on confidential processes of that nature.


MS. CONBOY:  Thank you.


MR. SHEPHERD:  Madam Chair --


MS. CONBOY:  Just a minute, please.  Ms. Chaplin has a question.


MS. CHAPLIN:  Mr. Cass, I don't have the Practice Direction in front of me, and I am looking at Ms. Sebalj if we can find it online or something.


I am just wondering whether or not the points you have raised go to the grounds that the Board has articulated as being potential reasons to hold a document in confidence which, to my recollection, concerned items such as competitive risk and those sort of things.


I don't think the fact that a regulated utility did something internally is a grounds -- particularly a grounds for keeping something confidential.


Can you help me at all with that?


MR. CASS:  Yes, Ms. Chaplin.  I'm sorry, I just very quickly got the confidentiality guidelines over the break and did not have time to look at that in detail.  But appendix A of the guidelines sets out considerations in determining requests for confidentiality.


Paragraph (a) is:
"The potential harm that could result from the disclosure of the information, including..."

A number of examples.  But, in my submission, the potential harm is the chilling effect on a confidential planning process by any regulated utility, if the understanding is that the confidentiality is not going to be protected in this forum.


That is my submission.  The guidelines refer to potential harm, and that is the potential harm that I am describing to the Board.


And if this is helpful, I don't know what Mr. Shepherd's questions are.  It may be that ultimately, when they're asked, Enbridge could look at the questions and answers and say, No problem, that transcript can go on the public record.  The problem is we don't know that in advance.


So it may well be that after he has asked his questions and when we have heard the questions and answers, there could be a process to look at the transcript and say, Yes, there is nothing there that is a concern about putting on the public record.


The issue that I am addressing here is the fundamental issue about a chilling effect on a confidential process that an organization carries out.  In my submission, entities, just because they are regulated, should not be any unless entitled to have confidential planning processes than other entities.


MS. CHAPLIN:  But, Mr. Cass, this isn't materials from that process.  This is the final product, as I understand it, which was approved by the board of directors.


So I could see the strength of your argument if it had to do with presentations or materials used in the development of it, but once it is the final document that the board of directors has approved, I don't understand how the disclosure of that, if in fact most of it has found its way into the application anyway, how that creates a chilling effect on a planning process.


MR. CASS:  Well, that is Mr. Shepherd's submission that most of it has found its way into the application.  I haven't seen that for myself, but that is his submission.


The point is the document itself is clearly marked "confidential".  It was a process to result in a document that was clearly intended to be confidential and to remain confidential.  So my submission is that if the confidentiality is not protected, then that is the signal to regulated utilities that carry out confidential planning processes that they cannot expect -- when they produce an end document in the expectation that it is going to be confidential, they can't expect that to be maintained.


In my submission, that is not really a necessary proposition for utilities.  It is not necessary to have this on the public record.


MS. CONBOY:  Mr. Shepherd.


MR. SHEPHERD:  Madam Chair --
Submissions by Mr. Mondrow:

MR. MONDROW:  I hesitate to interrupt Mr. Shepherd, but we would like to make brief comments in support of Mr. Shepherd's position.  I am happy to do that when he is concluded, but I wanted you to know that before you passed on.


MS. CONBOY:  Thank you.  Mr. Mondrow, go ahead, and then we will listen to Mr. Shepherd.


MR. MONDROW:  Very quick points.  First of all, this is a regulated utility.  Regulated utilities must disclose information their regulator and their stakeholders.  There is a confidentiality process to guard against broader public disclosure as required.


As Member Chaplin has pointed out, there is a comprehensive Practice Direction within an appendix A, which provides articulation of the grounds on which the Board has viewed and is prepared to view requests for confidentiality.


I take Mr. Cass's point he hadn't had a chance to read it thoroughly and refresh his memory just before the Panel returned.


There are two particular provisions in that appendix A that may be relevant to your considerations.  There is a consideration articulated, and it is in appendix A.  It is articulated as item (b), and it says:

"Whether the information consists of a trade secret or financial, commercial, scientific, or technical material that is consistently treated in a confidential manner by the person providing it to the Board."


Mr. Cass might well argue that a strategic plan falls within that framework.  There is, however, another provision at the end of the articulated grounds which says that information that is in the public domain will not be considered confidential.


Mr. Shepherd's position, following brief review of the document, which is more review than I have taken, is there is nothing in there that remains not in the public domain.


I disagree with Mr. Cass on behalf of Enbridge that simply labelling a document confidential should result in protection of the entire document.  The issue is whether there is anything in the document that is demonstrably prejudicial today to Enbridge's competitive or strategic position.


I don't think simply labelling a document should afford it blanket treatment.  I think it is incumbent on the utility to articulate within the Board's policy framework precisely what it is concerned about and those portions should be kept off the public record, rather than some sort of claim to Cabinet privilege for, as Member Chaplin points out, a final product of a strategic planning process, most of the results of which are now -- or perhaps all of the results of which are now in the public domain.


I think that is it an oversimplification, and we would strongly resist that proposition going forward as a matter of Board practice.


MS. CONBOY:  Thank you very much.  Mr. Shepherd, I am going to give Mr. Cass an opportunity to add anything, if he would like, to what he has just heard Mr. Mondrow say.


Before I give Mr. Shepherd the last word, I just want to give you the opportunity to respond to Mr. Mondrow, if you would like.
Continued Submissions by Mr. Cass:

MR. CASS:  Well, I don't want to take up too much of the Board's time.  I was not premising my submissions merely on the fact that the word "confidential" is on the document.  I would not submit to this Board that any document that has the word "confidential" on it is within the guidelines.


I was premising my submissions on the notion that a strategic planning process is a confidential process for an organization, and this being the end result of that process, it was intended to be confidential and maintained in confidence.  And that was the expectation.


MS. CONBOY:  Thank you, Mr. Cass.


Mr. Shepherd?
Reply Submissions by Mr. Shepherd:

MR. SHEPHERD:  Thank you, Madam Chair.  I will be brief.


The Board's position on confidentiality throughout the last decade that I have seen is -- the primary rule is transparency, that the Board wants what it does to be done in public.  Confidentiality is an exception.


And I take Mr. Cass's point that there are some things within a regulated utility that the regulated utility should keep confidential.  Personnel -- individual information about personnel, for example.


However, generally speaking, a regulated utility has a public monopoly, and part of that deal is they have to show everything to the public.  So to say that their strategic planning is confidential, inherently so, that may well be true at BlackBerry; it is not true at Enbridge.


If the Board is to shift back away from transparency and towards utilities -- you can keep what you do in-house secret -- that would be a retrograde step, in our view.


Finally, in any case -- and I am happy to go through this if you want, although I would rather not spend the Board's time on this, but I can walk you through section by section and you will see that every single thing in this is dealt with in the application, without exception.


MS. CONBOY:  Thank you.  We are going to -- Mr. Shepherd, we are going to provide you with your few minutes you said that you needed to cross-examine.


We will go in camera for this portion of the cross-examination, and then we will render our decision after the lunch break with respect to the confidential nature of both the document and the transcript that results from the cross-examination.


So I am assuming everybody in the room has -- that needs to sign a declaration and undertaking has done that.  Obviously not Enbridge staff, but am I correct, Ms. Sebalj, that everybody here has signed these documents?


MS. SEBALJ:  That's correct.  They have either signed, or they're Enbridge or they're staff.


MS. CONBOY:  Okay.  Thank you.


MS. SEBALJ:  I am assuming that when we go off-air, we go off WebEx, but not being a technology expert I am not certain, but I know we are broadcasting on the web.  But I am assuming that is the case.


MS. CONBOY:  You assume correctly.


MS. SEBALJ:  Thank you.  Okay.


MS. CONBOY:  Mr. Quinn, you have something you need to add?


MR. QUINN:  I was just – sorry.  Thank you.  I was just acknowledging other participants in the room and looking for their affirmation that they have signed the confidentiality agreement.


MS. CONBOY:  Okay.  Well, we're going to go off-air now.  Thank you for being the monitor, but for those of us -- for those of you who have not signed and should not be in the room, I would ask that you leave now, please.

MS. CONBOY:  Mr. Schuch, could you please go into the other room and make sure that I have pressed all of the right buttons and things are not being broadcast?


I beg your pardon?


MS. SEBALJ:  I was going to say we should say "test" or otherwise Colin's going to stand there --


MS. CONBOY:  That's right.  I have always looked for an excuse to sing into one of these mics, actually.


[Laughter]


MS. CONBOY:  After yesterday's game, yes, I think that deserves it.  I was going to ask you, Ms. Girvan, to give us the reports on the game yesterday.


[Laughter]


MS. CONBOY:  We are all right?  Mr. Schuch?


Mr. Schuch:  Madam Chair, our transcriber is just going to send a quick e-mail to somebody back in the office, just to ensure that we're off.


MS. CONBOY:  Okay.  That would be great.


All right.  Why don't we go ahead and start on the safe assumption that it is all working?


MR. SHEPHERD:  Thank you, Madam Chair.  The process of going off-air appears to be longer than my cross, but...


[Laughter]


MS. CONBOY:  We all need to practice once in a while, Mr. Shepherd.  Go ahead.

Continued Cross-Examination by Mr. Shepherd:


MR. SHEPHERD:  Do you have copies of the strategic plan?


MR. FISCHER:  Yes, we do.


MR. SHEPHERD:  Okay.  I am looking at page 12.  This is the financial forecast under the heading "Earnings forecast."


Start with 2013.  And in 2013, these numbers are 131 million plus a stretch factor, which is a gas distribution stretch factor, but I assume that gas distribution is about 97 percent or something of the total, right?  Or 95 percent?  I don't know.  A big number.


MR. CULBERT:  I don't know the percentage, but it is all entities in the gas distribution business units.


MR. SHEPHERD:  But if there is a stretch factor, it is very heavily gas distribution, right?  Sorry, Enbridge Gas Distribution?


MR. CULBERT:  I can't say I really know the answer to that question.  One could make that assumption.  I can't say for sure.


MR. SHEPHERD:  All right.  Well, I am going to assume that it is all gas distribution.  And so that would mean that you were expected in 2013 to earn $158 million, right?


MR. FISCHER:  Mr. Shepherd, I can confirm that the total amount of the stretch is not just Enbridge Gas Distribution.  What we don't know as a panel is what proportion of that amount accrues to Enbridge Gas Distribution and the affiliated entities.


MR. SHEPHERD:  I understand, but given the size of the entities, it is a reasonable assumption, isn't it, that a stretch for gas distribution is largely Enbridge Gas Distribution?  Isn't that right?


MR. FISCHER:  It could very well.


MR. SHEPHERD:  Okay.  In any case, if that is not correct, it's not going to be higher than that because your stretch is for everybody, right?  Enbridge Gas Distribution is going to be lower than that, right?


MR. FISCHER:  I would agree with that.


MR. SHEPHERD:  Okay.  So that means that you were expected to earn $158 million in 2013.  Your actual was 176, right?


MR. CULBERT:  On a corporate basis, that's correct.


MR. SHEPHERD:  Okay.


MR. CULBERT:  Again, 176 is inclusive of all of the entities you see there, including unregulated storage, et cetera.


MR. SHEPHERD:  Understood.


So then in the subsequent years, this strategic plan forecast shows that over the years 2014 to 2017, which is four years, you were expected to earn -- I'm sorry, I am doing math on the fly here -- $756 million, plus a stretch, right?  You just add those up?  Including the stretch, sorry.


If you just add up EGD corporate for those four years, plus the stretch, that is 756 million.


MR. CULBERT:  Assuming your math is correct, I agree.


MR. SHEPHERD:  All right.  Plus there would be an additional amount, which would be higher for 2018, right?


MR. CULBERT:  Yes.  This is only going through 2017.


MR. SHEPHERD:  So round figure, we're probably talking about something close to a billion dollars?  Yes?


MR. CULBERT:  Again, subject to check with your math, sure.


MR. SHEPHERD:  Okay.  At your 2013 earnings, your -- the -- what you started with, the 131 plus 27, the total would be about, give or take, 800, right?  Or so?


MR. CULBERT:  Sure.


MR. SHEPHERD:  And that difference, that $200 million difference, is pre-tax, right?  Sorry, is after-tax, right?


MR. CULBERT:  Yes.  These are earnings numbers, correct.


MR. SHEPHERD:  So from a rate point of view, you would have to gross it up?


MR. CULBERT:  Depending on what the elements of the change were you might have to gross it up.  If it was all O&M like we discussed yesterday, you wouldn't be grossing that up, but it depends on what the elements are.


MR. SHEPHERD:  Well, no, these are earnings figures.


MR. CULBERT:  Yes, but like we discussed yesterday, if all of the earnings were coming from something that was rate base related, you definitely would be grossing that up, yes.


MR. SHEPHERD:  That would make it like 275 or something like that, in that range?


MR. CULBERT:  Sure.


MR. SHEPHERD:  Here is why I am asking this, because in the paragraph before, you say there is two reasons why your earnings will go up so high, this additional 275 million you asked for from the ratepayers, are:  Number 1, because of the allowed ROE being forecast to increase, right; and, number 2, because of rate base growth from 4.2 billion to 5.9 billion.  That is only till 2017.  There is more in 2018 in both cases; right?


MR. CULBERT:  Yes.


MR. SHEPHERD:  We know that the allowed ROE component of that 275 million is about $130 million.  We talked about that.


MR. CULBERT:  Based on the information in our application versus the strat plan, yes.


MR. SHEPHERD:  Understood.  It is not going to be that far out, is it?


MR. CULBERT:  I don't know the details of the strat plan, but it is a reasonable assumption, sure.


MR. SHEPHERD:  And then the other part is your increase in spending on capital, and that is the rest of that increase in earnings?


MR. CULBERT:  Yes.  This is looking at a return on equity of 36 percent of a rate base value.  That is how the company makes its money; that's correct.


MR. SHEPHERD:  All right.  So here's what I am trying to get at and what I am trying to nail down, is that subject to some relatively small impacts, the additional money you want to make over the next five years is almost entirely because of (a), asking for a higher ROE over that period on a forecast basis, and (b) increases in your capital spending that increase your rate base.


The numbers appear to show that that is the result.  Is that a fair generalization?


MR. CULBERT:  Yes.  As we both know, the return on equity essentially results in the earnings in the entity, yes.


MR. SHEPHERD:  Okay, thank you.  Those are my questions.


MS. CONBOY:  Thank you very much.  We are ready to go back on air.

MS. CONBOY:  Mr. Quinn, you can invite your friend back in.


MR. SHEPHERD:  Madam Chair, with your permission, I will leave and be back this afternoon.


MS. CONBOY:  Thank you very much.  Ms. Girvan, I have you down as going next with ten minutes.


MS. GIRVAN:  Thank you.  I think he is waiting to bring Mr. McMahon back in.  Should we wait?


MS. CONBOY:  I think you should go ahead, please.  There are transcripts.  He can catch up.

Cross-Examination by Ms. Girvan:

MS. GIRVAN:  Okay.  Hello, panel, Julie Girvan representing the Consumers Council of Canada.


I just really I have a few questions.  Mr. Lister, I just want to follow up on a comment that you made earlier to Mr. Janigan.  And I think he was proposing to you that -- to potentially add on some more deferral and variance accounts related to capital.


Your conclusion to him or your answer to him was you don't really like add-ons.  You want to avoid them, because it makes a plan more complicated and less comprehensive.  Do you remember saying that to Mr. Janigan?


MR. LISTER:  Yes.  My recollection is that was not with regard to deferral and variance accounts specifically, but we were having a conversation about Y factors in that particular instance.


MS. GIRVAN:  Okay, thank you.  So let me just go through -- I guess in terms of your proposal, I am a little confused about the fact that you think it is relatively simple versus a more complicated and less comprehensive plan.


When I think of IRM, I think of it being relatively simple.  Rates are typically adjusted for inflation, some factor for productivity.  There are usually a few flow-through items, like Y factors.  There's usually a provision for Z factors to address unforeseen circumstances that may arise.  There might also be off ramps.


And I think the general consensus is this is seen as representing an appropriate balance of the interests between ratepayers and shareholders.  Rates are set by way of a formula with some certainty for ratepayers, and shareholders are incented to create efficiency gains and profit from that, subject to some form of earnings sharing.


So when I look at your plan that you are calling a comprehensive custom IRM plan, I see it as really posing little risk to Enbridge relative to what I would see as a typical IRM plan.


Let me just point out, and you can agree with me or not, that these are part of your -- these elements are part of your plans.  You have Y factors that I would say are significant, and I would note the customer care, which is over $100 million, and DSM, which is over $30 million.


Do you agree with that?


MR. CULBERT:  Yes, we agree those --


MS. GIRVAN:  They represent a significant component of your --


MR. CULBERT:  Those were pre-established requirements in a separate process, yes.


MS. GIRVAN:  Okay.  Then if you could quickly turn, I just have one evidence reference.  It is the deferral and variance account evidence, and that is set out at D1, tab 8, schedule 1.


In that exhibit, it just lists the deferral and variance accounts that were approved in 2013 and the ones that are proposed through your plan, which is 2014 to 2018.


MR. CULBERT:  Yes, we have that.


MS. GIRVAN:  If you turn to page 2 of what that, 2 and 3, you see the list there of what I think I added up to be 27 deferral and variance accounts.


Have you ever had this many deferral and variance accounts, either through cost of service or with respect to your previous IRM plan?


MR. CULBERT:  In terms of absolute number?  I am not certain if we have had this number.  The majority of the accounts you see in the 2014 through '18 list were established with respect to the 2013 rate proceeding.  There are others in there the company has requested; namely, the GTA variance account.


Others, like the greenhouse gas emissions deferral account, we have asked to replace formerly what was a Board-approved account for carbon dioxide offset credits, which has not been used to date, but it is to deal with anything that happens as a result of government greenhouse gas emissions activities that go on in the future.


MS. GIRVAN:  But in the past, have you had this many accounts?  Just if you could give me a...


MR. CULBERT:  We may have had close to this number of accounts in the past.  I can't say for certain.


MS. GIRVAN:  Okay.  So would you agree that for each of these items, Enbridge will be kept whole with respect to risk, in terms of expenditures throughout the plan?  And that is the point of deferral and variance accounts.


MR. CULBERT:  Well, you could look at it that way.  We're looking at it from the perspective of the majority of these accounts were established in 2013, and they're keeping both the ratepayers and the company at risk of benefitting over the other, yes.


MS. GIRVAN:  Okay, yes.


And I note that in that -- and you have mentioned these -- there are a number of capital accounts that are new, and that is the GTA, it is the relocation mains and the replacement mains.


MR. CULBERT:  That's correct.


MS. GIRVAN:  And then in your plan, you are also compensated for customer growth, so that is part of your proposal; correct?


MR. CULBERT:  In our plan, we include all of the volumetric impacts of customer growth, plus the costs of customer growth, yes, forecasting those.


MS. GIRVAN:  What I see as being sort of left in the overall picture is really your O&M levels in terms of where you might face some risk, and what I would call core capital, because if you take out the major projects like GTA and Ottawa, WAMS, and relocation mains and replacement mains, you are left with what I would consider to be core capital; is that correct?


MR. CULBERT:  That is I think one of the general comments in our evidence, which is we believe we're taking significant risk in those elements, other than things that we do not have control over, which I mentioned yesterday are simply the additional GTA variance account.  We're trying to ensure -- it is a large project -- that variances in that account or variances in that project aren't -- don't unduly harm either the ratepayers or the company.


The two newly proposed variance accounts for replacements and relocation mains, we have indicated that those are things that we believe are largely outside of the company's control.  I won't reiterate as to why.


But the rest of the core capital we have forecast, we believe we've built in productivities and we have rationalized all of the spends that are required.


MS. GIRVAN:  Yes, okay.


MR. CULBERT:  We're taking the risk on that core capital, that's correct, for five years.


MS. GIRVAN:  Have you ever set rates based on a five-year forecast like this?


MR. CULBERT:  On a five-year forecast of costs?


MS. GIRVAN:  Yes, O&M and capital.


MR. CULBERT:  Not during my time, no.


MS. GIRVAN:  So would you agree that five years is a long time?


MR. CULBERT:  And that is part of -- part of the proposal is that we believe it is hard to forecast for five years.


MS. GIRVAN:  Okay.


MR. CULBERT:  And that is the risk we're taking.


MS. GIRVAN:  But would you agree -- let's just assume, for example, that you have overbudgeted.  Let's just assume, for the sake of argument, that you have overbudgeted on those items.


Would you then say that overall your plan is pretty well relatively risk-free for Enbridge?


You are pointing to those particular items as where you are taking some risk, but let's just assume that those forecasts, that you may have over-budgeted for those.


Would you agree that overall the plan is relatively risk-free?


MR. FISCHER:  Ms. Girvan, if I could just maybe respond a little bit to that question, so clearly the company's at risk to a significant degree around costs, operating costs and capital costs.


But in addition to that, there are other risks that we're exposed to as well in terms of our cost projections, such as income tax rates, the market interest rates.  So we do incorporate a forecast of ROE, but to the extent that market rates are higher or lower, that would differ.  And that would also apply to long-term debt rates as well.


So there's just a few additional areas that, you know, introduce risk into our model.


MS. GIRVAN:  Okay.


MR. RYCKMAN:  The other thing, if I could just add to that, one of the areas of risk is around inflation as well.  So we built our budgets with certain expectations.  We know that inflation can change fairly quickly sometimes, and fairly dramatically.


So to the extent that there are variances there, we're also carrying that risk.


MS. GIRVAN:  Yes.  And some of that, would you agree, would be balanced by offsetting cost reductions?


There's the potential for that as well.  There's two sides to the story.


MR. RYCKMAN:  Certainly with the forecasts, we have tried to capture our best estimates of what we think the future will look like.  There will be variances from those forecasts that occur over time, and some could be up and some could be down.


MS. GIRVAN:  Okay.  Great.  Thank you.


MR. LISTER:  I would just like to add as well that it is not unlike an I-X plan, where the forecast is essentially an inflation factor, and it is widely recognized that that inflation factor may or may not have any bearing on the company's actual costs.


So that is a risk.


I just wanted to highlight, as well, volumes, from our perspective, are not intended to reduce our risk.  They're intended to ensure that ratepayers are paying for the volumes that are the most up-to-date and accurate.  Otherwise, we end up with a situation where ratepayers end up paying on a volume base that is incorrect.


MS. GIRVAN:  So neither are at risk, then, with respect to volumes?


MR. LISTER:  It mitigates the risk for both.  Both carry risk, but it mitigates the risk significantly.


MS. GIRVAN:  Now, I would like to move on to a different topic.


MS. CONBOY:  You've got just a couple of minutes, Ms. Girvan.


MS. GIRVAN:  I know.  I know.  I'm trying.  I'm trying.


I would just like to understand your relationship between your SRC proposal and your plan.


When you presented initially your application, you set this together as a package.  So a crude sort of paraphrase on my part, when you presented things to your stakeholders you said:  Don't worry.  You have increases greater than inflation that are embedded in this plan, but they're offset by this SRC rebate.


I just wanted to get your perspective as to whether you view these as a package, or do you believe the Board should assess your plan on its own merits outside of this offset?


MR. CULBERT:  I am not sure how to respond to that.


The proposed mechanism, we absolutely agree should be viewed on its own merits, i.e., as to whether the Board believes this custom IR approach is incenting the company as is intended in an incentive regulation mechanism, and if this mechanism is something to be used going forward in connection with the Board's view that incentive regulation mechanisms need to evolve as things change.


MS. GIRVAN:  Okay.  What I am really sort of looking at is:  Would your plan have been different if you didn't have this SRC adjustment?


MR. CULBERT:  I don't think so.  The SRC proposal is a review of our depreciation rates solely on their own merit.


One of the challenges of the SRC or the constant dollar depreciation approach is as a result of changing depreciation rates and returning amounts of estimated site restoration costs that were formerly included in depreciation rates, it by default influences the requirement amounts that are resident in the company as a whole.


MS. GIRVAN:  Okay.  I guess I am just looking from a company perspective when you were looking at the impact of your proposal on your customers.


Did you look at it as a package, or did you look at it without the SRC proposal?


MR. RYCKMAN:  I think the answer is yes, we looked at it in terms of the individual components.  And my belief is that the Board should be looking at the individual components.


We also looked at the net impact of the application as well.


So when the Board looks at and opines on applications, I think it's typical that they look at the rate and the bill impacts associated with those applications.


So I don't see them as being items that sit in isolation, but having said that, I do think the individual merits of the application need to be looked at and the sum of all of those mechanisms need to be looked at.


MS. GIRVAN:  All right.  Thank you.  Just quickly then, if the Board concludes --


MS. CONBOY:  Last question, Ms. Girvan.


MS. GIRVAN:  I am just getting long answers.


MS. CONBOY:  I have given you a bit of extra time because of that.


MS. GIRVAN:  Okay.  If the Board concludes that your plan as proposed is not appropriate and rejects it, what does Enbridge propose would happen next?  How should rates be set for 2014?


Have you thought about that?


MR. CULBERT:  I am not sure we would have an answer at this point.  We would have to see what the Board's decision states and move forward from there.


I should say with respect to -- I'm sorry to be longwinded if that is the view you are getting.  I should say with respect to the SRC proposal, the numbers that are resident in the drivers of deficiency schedule I have commented on, those are all numbers that come about from the proposed depreciable asset values --


MS. GIRVAN:  No, I understand that.  I was just asking a different question, not on the SRC proposal.


MR. CULBERT:  No, I understand.


MS. GIRVABN:  But in the sense if the Board rejects your proposal for your custom IRM, how do you propose that rates would be set for 2014?


MR. RYCKMAN:  Our application is based on what we believe is appropriate and to meet the needs of the business.


We haven't opined on what we would do under all the possible scenarios that could come out of a Board decision.


MS. GIRVAN:  Okay.  Thanks.


MS. CONBOY:  Thank you.


Mr. Mondrow?
Cross-Examination by Mr. Mondrow:


MR. MONDROW:  Thank you, Madam Chair.  Good morning, witnesses.


MS. CONBOY:  I also have you down for the same amount of time as Ms. Girvan.


MR. MONDROW:  Yes.  I was checking.


MS. CONBOY:  I recognize some of the answers are a bit more lengthy than what you are anticipating, so I am providing for a bit of buffer there.


MR. MONDROW:  Thank you.


Gentlemen, is there somewhere in the evidence where the deferral and variance accounts currently proposed are mapped against the deferral and variance accounts that were in place during your previous IRM term?


MR. CULBERT:  Is there -- are you asking, Mr. Mondrow, is there a table that shows the types of deferral and variance accounts, a list of them?


MR. MONDROW:  Ms. Girvan was eliciting the point you have a lot of deferral and variance accounts, Mr. Culbert, and you kept referring to 2013 but that was cost of service.


I am interested in the current pass-throughs or deferrals or variance protections, relative to the last IRM term.  Is that set out somewhere in the evidence?


MR. CULBERT:  There is no table that specifies that.  We could certainly provide one.


MR. MONDROW:  If you could.


MR. CULBERT:  Sure.


MR. MONDROW:  Do you have a number?


MS. SEBALJ:  J2.1.
UNDERTAKING NO. J2.1:  TO PROVIDE A TABLE SETTING OUT EGDI's DEFERRAL AND VARIANCE ACCOUNTS.


MR. MONDROW:  Thank you.


Another question that Ms. Girvan asked you, I want to follow up on in a different way.


Gentlemen, when the Board sets just and reasonable rates for 2014, should the Board consider the rates that you proposed net of -- that is, without the SRC customer refund -- in determining what is just and reasonable?


MR. RYCKMAN:  I would encourage others on the panel to jump in, if appropriate.


My view would be that the SRC proposal has to be considered in the context of just and reasonable rates, simply because part of the components -- or it is captured in the depreciation expense.


So there's two components to the SRC.  One is a reduction of the depreciation expense that is embedded in rates, and the other is the return of amounts to ratepayers.


So I don't think you can absolutely divorce the two.


MR. MONDROW:  Well, Mr. Ryckman, in respect of the return to amounts to ratepayers, the refund of their money, should that component be considered as part of a just and reasonable rate?  Or should it be thought of as outside determination of a just and reasonable rate?


MR. RYCKMAN:  I think all of the elements that go into just and reasonable rates should be considered, and --


MR. MONDROW:  Sorry, that wasn't my question.


Should that element be an element of just and reasonable?  Should the refund to customers of the money they've overpaid be an element of a just and reasonable rate for 2014?


MR. RYCKMAN:  The amounts that are being refunded are considerations in terms of bill impacts, not rate impacts.


MR. MONDROW:  Thank you.


Ms. Girvan asked you, gentlemen, if your somewhat unique, as you have admitted, I think, proposal is rejected, how would you propose to set rates for 2014.  Mr. Culbert, I appreciate you haven't considered that.  Could we have an undertaking to provide an answer to that question, please?


[Witness panel confers]


MR. MONDROW:  Can we stop the clock, Madam Chair?


[Laughter]


MS. CONBOY:  Yes.


MR. LISTER:  Sorry, Mr. Mondrow.  It is very difficult for us to accept an undertaking.  We don't quite understand how we would formulate a position, not knowing what the outcome of the Board's decision was.


I mean, at a very theoretical level, alternatives might be depending -- very much depending on what the Board decision said, might be cost of service for a single year or a period of time, might be an I-X -- it might be any number of things.


And it is very difficult to say what we would do in advance of a Board decision that nobody has seen yet.


MR. MONDROW:  Mr. Lister, you have asked for approval of a five-year rate plan.  The Board will either accept it with conditions or reject it.  If the Board rejects it, what do you propose to do to set rates for 2014?  That is a question that can be answered.


MR. CULBERT:  I guess what we're trying to say, Mr. Mondrow, it would depend on what the Board's decision with reasons stated.  If it stated that -- and I am purely throwing out an example -- that the Board believed the five-year forecast wasn't comprehensive enough, for example, then perhaps the company's approach would be that we would try to set rates for one year on the cost of service information for 2014 and come back with a more detailed plan, but that would depend on what the Board's decision and reasons were.


MR. MONDROW:  All right.  Madam Chair, I am going to move on from that question.  Thank you.


MS. CONBOY:  Thank you.


MR. MONDROW:  Gentlemen, you made the point in your opening statement that future revenues are decoupled from future costs under your proposal, like a conventional IRM plan such as Ms. Girvan described the elements of.


You discussed with Mr. Shepherd and agreed, I think, that the risk being assumed by Enbridge as opposed to a traditional cost of service framework is the risk arising from relatively longer time horizons for the cost forecasts.


And I put to you that the extent to which Enbridge is taking a risk under its plan versus traditional cost of service is directly determined by the veracity of your forecasts.  Is that a fair conclusion?


MR. LISTER:  I think that is a fairly accurate conclusion, and, by all means, that is why we have asked the question -- or to please put the questions to the witnesses for each of capital and O&M, to test that veracity.


MR. MONDROW:  And the further out in the time horizon you get, the harder it is to forecast with accuracy?


MR. LISTER:  We have made no bones about that.  That is true.


MR. MONDROW:  All right.  Your forecasts and the requested requirement allowances for each year of your plan include forecasts of cost of capital parameters?


MR. CULBERT:  They do.


MR. MONDROW:  Would you be prepared to accept for each of the plan years the Board-determined cost of capital parameters in lieu of your forecasted cost of capital parameters?


MR. LISTER:  That is something that is actually addressed in our pre-filed evidence in A2-5-1, and we did -- we do talk there about consideration of that, of floating an amount to be adjusted annually based on the Board's then most current outcome of the formula.


And we would have no opposition to that whatsoever.  And as we indicate in the evidence, our concern was that it was another item to update.  And some of the theme that we have heard is stakeholders believe our plan is too complicated already.  We recognize that.  We were concerned about that, so we didn't want to put one more thing for updating.  We felt that might not play very well.


But our intent is to capture what is the fair return, and if the Board determines that that is the way to measure the fair return, we would have no problem with that.


MR. MONDROW:  Thank you, Mr. Lister.


Another topic.  You have analogized Enbridge's proposed approach to the Board's RRFE custom rate plan option.  My understanding of the Board's articulation, to the extent it's been provided, of that option is that it provides for smoothing of rate increases, in particular, rate increases driven by significant capital expenditure across a period of what would otherwise be volatile or significant spending.


Am I incorrect?  I didn't see anywhere in your proposal a rate-smoothing mechanism.


MR. FISCHER:  Mr. Mondrow, I think specifically what is described in the RRFE with respect to the custom IRs is not necessarily a smoothing.


I think the actual wording in the report itself is distribute a specific rate trend for the planned term to be determined by the Board and formed by the build-up of the allowed revenue, essentially.


So our plan does not establish a trend, if that is what you are asking about, if you are thinking it is analogous to smoothing.  So ours does not do that.


MR. RYCKMAN:  Having said that, though, we did talk about rate smoothing as we were developing the application, and one of the things we found that, the rate changes year over year certainly weren't in line with some of the bill impacts that are noted in the RRFE.


So in the RRFE, it actually looks -- my recollection is looks towards rate mitigation or rate smoothing, I should say, from the perspective of bill impacts, and it sets out a level of 10 percent in that report.


MR. MONDROW:  Sorry, Mr. Ryckman, that has to do with rate mitigation, not rate smoothing.  Those are different concepts, so let me return, please, to Mr. Fischer's comments.


At page 19 of the RRFE document, paragraph -- the second full paragraph states:
"The Board has determined that a minimum term of five years is appropriate."


This is in respect of custom IR.
"As is the case for fourth generation IR, this term will better align rate-setting and distributor planning, strengthen efficiency incentives and support innovation.  It will help manage the pace of rate increases for customers through adjustments calculated to smooth the impact of forecasted expenditures."


I assume you read this document, Mr. Fischer?


MR. FISCHER:  Yes, I did.


MR. MONDROW:  What does rate smoothing mean -- what does "smoothing" mean to you?


MR. LISTER:  May I offer a comment here?


Certainly we have looked at rate smoothing.  We may have even talked about it at one of the stakeholder events.  My recollection there is not clear.


And Mr. Ryckman alluded to the fact that we did discuss rate smoothing.  Several determinations were made.  Number 1, we didn't think that the rate adjustment profile that is the outcome of this application is overly volatile, and it is an annual average of about 2.2 percent.


That is not an excuse --


MR. MONDROW:  Sorry, Mr. Lister, an annual average.  You mean it is an average of the five years; is that what you mean?


MR. LISTER:  That's correct, that's correct.


MR. MONDROW:  Thank you.


MR. LISTER:  But, further, we are also including in our plan an annual asymmetric ESM amount, and when we approached the issue ever rate smoothing, it became very apparent that trying to smooth rates within the confines or within the parameters of an ESM, an earnings sharing mechanism, very quickly leads to complications.


For example, in rate smoothing, at a very theoretical level, there will be years where you under-recover or over-recover.  There is nothing theoretically wrong with that, but when it is assigned to an ESM, an asymmetric ESM in particular, it creates years where you would be sharing when you are over-recovering and not recovering when you are under-recovering.  I hope that was clear.  But it was the addition of the ESM mechanism that complicates rate smoothing.


We also did talk about smoothing out capital spending, the capital spending profile, to make rates smoother, and by all means, again, ask the capital panel about that.


But at a very high level, the essence and outcome of the budgeting process was intended to do very much that.  And I think that was largely achieved, with the exception of some very short duration high-cost projects, such as the GTA, Ottawa, WAMS.


MR. MONDROW:  All right.  Thank you.


MR. RYCKMAN:  There is one more thing I could add.  My view is that the customized IR also helps address some of the rate impacts, or at least the trajectory of those rates, because it is set year over year.  So you don't have this step change at a rebasing time.

So I think that is an important part of the customized IR approach as well.

MR. MONDROW:  Thank you.  My last question, with your leave, Madam Chair, I will try to make this a brief question.

I want to refer, gentlemen, to the Z factor criteria, and perhaps the quickest way to get at my question is to refer you to what I think is Exhibit K1.4 in this proceeding, which is the Union settlement agreement.

Page 23 of that agreement, if you have it handy, is where the topic of Z factors is addressed, and in particular, the criteria that Union and intervenors agreed to and the Board sanctioned for qualification for Z factor treatment.

I am interested in -- sorry, maybe I have the wrong reference.  It is at page number --


MS. CONBOY:  I think that is the wrong one.

MR. MONDROW:  It is.  Sorry, that is page 23 of the agreement.  My apologies.  Which is where the criteria are set out.  Thank you.

I am interested in the second criteria which qualifies for a Z factor treatment, cost increases or decreases that result from or relate to a type of risk -- and there are two sub-criteria:

"... for which a prudent utility would not be expected to take risk-mitigation steps."

And:

"... which is out of the realm of the basic undertaking of the utility."

It is the latter that captures a concept that it seems to me is not expressly included in your proposed formulation, which I won't bother to open and compare at the moment, although we can do that if we need to.

So I am focussing on the term or the phrase "which is out of the realm of the basic undertaking of the utility."

As indicated in the Union settlement, that phrase comes directly from a Board decision in EB-2011-0277, and that is the cross-bore or sewer laterals decision.

And just for context, it is my understanding that sewer laterals or cross-bores arose from a practice of trenchless lateral placement, where the lateral -- the gas lateral was accidentally cut through a sewer line.  And in the result, there was a risk that if there was a leak in the lateral through the sewer connection to the premises, the gas could get into the premises and you had to go back in and investigate, identify and fix those situations, and that entailed some cost.

Is that a fair description, at a high level?

MR. RYCKMAN:  Yes.

MR. MONDROW:  Okay.  Thank you, Mr. Ryckman.

And in the EB-2011-0277 decision, the Board essentially determined that the risks of trenchless lateral placement were the kinds of risk that a prudent utility would be fully engaged in managing and mitigating.  It used language, the following language:

"Part of the risk management associated with the installation and maintenance of the distribution infrastructure as a whole within the franchise, precisely what the management of Enbridge is engaged in organizing and executing."

And in the result, your request for Z factor treatment was denied.

My question is:  In your current re-proposed formulation for Z factor treatment, is it Enbridge's intention that the new formulation would change that approach to risk allocation as between utility management and ratepayers?

MR. RYCKMAN:  I think in the context of the cross-bore issue, there were a couple of things, and certainly that is set out in Exhibit I.A10.EGD.STAFF IR 26.  And as it relates to cross-bore, there were a couple of things.

So we became aware of this issue -- a lot of the municipalities in areas that we operate in didn't have adequate records in terms of where some of the sewers were, and so through that trenchless installation, there were cases where the gas infrastructure intersected those pipes.

There was also an event which took place, which was the TSSA information that was circulated I can't remember -- or issued I can't remember which year.

But I would say to the extent that we have some variable costs that are identified and we're willing to take that risk, you know, we will take that risk.  If it is over and above that, we could apply for a Z factor treatment.

My view would be that the type of event that we had in the past with the cross-bore, if that were to reoccur over and above what we have identified in terms of the variable costs, then yes, we could very well come forward for a request.

MR. MONDROW:  So, Mr. Ryckman, I take your answer to be that it is Enbridge's intention with its proposed Z factor criteria to change the risk allocation identified by the Board in the cross-bores decision?

MR. RYCKMAN:  I would say that our intention was to make Z factors a feature of an IR plan.

In terms of the risk, if there is risk over and above, again, what we have identified that we're prepared to take, then, yes, we would be looking to get relief on those issues.

MR. MONDROW:  Which is a change from the Board's decision in the sewer lateral case?  You are looking to change the allocation the Board has previously determined?  Yes or no?

MR. RYCKMAN:  Just one moment, please.

[Witness panel confers]

MR. LISTER:  Thank you, Mr. Mondrow.

It is not our intent to change the risk allocation.  Certainly that is not our intent.

When you relate it -- an example specifically related to cross-bore -- perhaps I could ask that we scroll down a little bit to the cross-bore section -- our particular issue with that decision was that it appeared to us, in our reading and interpretation of the Board's decision, that there in fact is no cost that is not -- that cannot be considered -- sorry, scroll down a little bit more.  There is a section on cross-bore.

That there is nothing that is not sort of within the realm of the risk that the utility should otherwise be taking.

So it was our attempt to have the wording clearer, so that that risk allocation was understood, at least.  But it is not our intent to change that allocation of risk.

MR. MONDROW:  So it is your intent, Mr. Lister, to incorporate the allocation of risk that the Board discussed in the sewer lateral decision?  With clarity, but incorporate those concepts?

MR. LISTER:  Certainly clarity.  I think what we take issue with is that, you know, coming out of the cross-bore decision, what is it that is not within our control?  Out of that decision it would appear that everything is within our control, and that is what we take issue with.

MR. MONDROW:  Mr. Lister, I quoted to you -- and I didn't put before you -- some passages from the Board's decision.  I will read them to you again, and this is what I am asking you about.

The Board decided in dismissing your Z factor request – and this is page 13 of the decision if you want to have reference to it afterwards.  I'm sorry I did not bring copies.  That the sewer lateral-type risk -- I described briefly what that case was about -- was -- and management of that risk:

"The risk management associated with the installation and maintenance of the distribution infrastructure as a whole within the franchise..."

It was a risk like that.  The Board went on to say:

"... that is precisely what the management of Enbridge is engaged in organizing and executing."

Are you proposing to change that formulation of the appropriate scope of utility risk?


MR. LISTER:  Sorry, one minute, please.

[Witness panel confers]

MR. MONDROW:  Madam Chair, it may be more fair, I suppose, if the witnesses want to pull out the decision over lunch.  I am happy to take an undertaking to get a response, if they would be more comfortable doing that.

MS. CONBOY:  I think we have the decision in front of us right now, but...

MR. LISTER:  I was going to suggest we would be happy to take an undertaking.

MS. CONBOY:  Okay.  Why don't we do that?

MR. MONDROW:  I will be here after lunch.  Thank you.

MS. SEBALJ:  It's J2.2.
UNDERTAKING NO. J2.2:  TO EXPLAIN WHETHER ENBRIDGE INTENDS TO ALTER THE RISK ALLOCATION DEFINED IN THE EB-2011-0277 DECISION.

MR. MONDROW:  Just to be clear, the question is whether Enbridge intends, in its current z factor formulation, to alter the risk allocation reflected in that decision.

MS. CONBOY:  Thank you.

MR. MONDROW:  Thank you.

MS. CONBOY:  Thank you very much, Mr. Mondrow.

MR. MONDROW:  Those are my questions.

MS. SEBALJ:  Madam Chair, before you move on, I had occasion to look at the hearing plan, and it looks to me as though Ms. Girvan actually had 20 minutes.  And my understanding is she had a couple of additional questions.

MR. MONDROW:  And I just used them.

[Laughter]

MS. CONBOY:  No, to be fair, I'm sorry, Ms. Girvan, I was looking down at 1A.  And Ms. Sebalj is correct and I did cut you off early, so my apologies.

Are there a few follow-up questions that you would like to --


MS. GIRVAN:  Just very briefly.

MS. CONBOY:  Okay.

MS. GIRVAN:  If that is okay?

MS. CONBOY:  So just as we go forward, I will tell people this is the time I have allocated, and I think I did do that.  I've got ten minutes down for you.  Please confirm that I have got it right.

MS. GIRVAN:  Yes, I thought it was 20, but you said "ten".  Anyway, it doesn't matter.

MS. CONBOY:  So I can shorten yours...

MS. GIRVAN:  You can do whatever you want.

[Laughter]


MS. GIRVAN:  So, anyway, I just have a few quick questions.

This is for you, Mr. Culbert, quickly.

I am just trying to understand within your financial statements and within your ROE, and all of this, how you incorporate the demand side management incentive.  In each year the company has an opportunity to earn a demand side management incentive, and it's approximately $9 to $10 dollars a year, sometimes a little bit less.  It is capped at 10.5, I believe.

Anyway, can you explain to me how that money is treated from a financial perspective?

MR. CULBERT:  From a corporate perspective, the money flows through the corporate earnings.

From a utility financial perspective, those amounts are eliminated for the purposes of my calculation of utility returns.

MS. GIRVAN:  So it flows directly through to the corporate shareholder.  It is not in utility returns at all?

MR. CULBERT:  Yes, that is the incentive.

MS. GIRVAN:  So it is not considered a profit --


MR. CULBERT:  No.

MS. GIRVAN:  -- from EGD's perspective?

MR. CULBERT:  Not utility wise.  Those amounts are our incentive.  And just like transactional services, our share of transactional services is not included in my utility results; otherwise, I would be sharing a portion of our incentive with the ratepayers through earnings sharing.

MS. GIRVAN:  Do you have any sense of how that is perceived by the capital markets, at all?

MR. CULBERT:  I am not sure what you mean by that question.

MS. GIRVAN:  So it is not -- they don't look at Enbridge Gas Distribution and see this as a part of your ROE, even though it is technically sent over to corporate earnings?

MR. CULBERT:  From a corporate perspective, they certainly look at corporate returns, but they normalize that with respect to utility returns, just like we do here in rate cases.

So they look at normalized returns as being the driver of this business.

MS. GIRVAN:  Okay.  So just very briefly, Exhibit K1.3, which was Mr. Shepherd's chart that he filed yesterday.

And I am just trying to look at -- I look at the impacts Enbridge has filed, and I wonder to what extent -- I think Mr. Mondrow asked briefly about this.  Do you have any assessment as to how the deferral and variance accounts' balances potentially impact what customers ultimately pay in terms of bill impacts?

So I brought up earlier we had 27 deferral and variance accounts, and you had, I think, a similar -- you said similar to what you had before, but maybe a little bit different.

Have you assessed, sort of going forward, to what extent you might -- these amounts might impact bills over and above what you are proposing with respect to your plan?

MR. CULBERT:  I think your question is:  Do I have a forecast of deferral and variance account balances going forward?

MS. GIRVAN:  Yes.

MR. CULBERT:  I think we responded to an interrogatory or undertaking.  No, I don't have forecasts of what those amounts would be.

So that is the whole point of the deferral and variance account.  I can't really project what variances might come about.

MS. GIRVAN:  Did you know -- notwithstanding ESM, do you have any sense during the last plan whether this was a credit to ratepayers generally, or was it a debit to ratepayers?

MR. CULBERT:  I don't have a sense.  I would have to take a look.  Are you asking exclusive, of course, of the PGVA and gas cost related to deferral and variance accounts?

MS. GIRVAN:  Yes, yes.

MR. CULBERT:  Which are pass-throughs?

MS. GIRVAN:  Yes.

MR. CULBERT:  I don't have a sense.  We would have to take an undertaking.

MS. GIRVAN:  Could you undertake to do that for me?

MR. CULBERT:  Certainly.

MS. SEBALJ:  J2.3.
UNDERTAKING NO. J2.3:  TO PROVIDE FORECAST OF DEFERRAL AND VARIANCE ACCOUNT BALANCES GOING FORWARD.

MS. GIRVAN: Thank you.  Those are my questions.

MS. CONBOY:  Thank you, Ms. Girvan.

Mr. Thompson, we are going to get started with your cross-examination and perhaps go for a half an hour, and then take the break.

MR. THOMPSON:  Thank you.  I am quite flattered you want to listen to me rather than watch hockey.

MS. CONBOY:  Well, the real game was played yesterday, Mr. Thompson.

[Laughter]
Cross-Examination by Mr. Thompson:

MR. THOMPSON:  Panel, I represent the Canadian Manufacturers & Exporters.  I have a few preliminary questions, first of all.

I just want to get some numbers in the record, if I might, Mr. Culbert.  First of all, am I right that the current approved ROE is 8.93 percent?

MR. CULBERT:  The current 2013 Board-approved rate is 8.93 percent, yes.

MR. THOMPSON:  All right.  When you're talking about your $130 million, that is holding 8.93 percent constant over the five years versus the increases in ROE that you forecast?

MR. CULBERT:  That's correct.

MR. THOMPSON:  Thank you.  Now, the current Board-approved rate base return as a percentage, what is that?

MR. CULBERT:  I believe it's 6.81 percent, subject to check, though.

MR. THOMPSON:  Let's do that.  6.81 subject to check.  And if you gross that up for taxes and depreciation, could you give us roughly where that would end up?

MR. CULBERT:  I would have to undertake to provide that.  I don't know the calculation.  You're talking about the gross return on rate base?

MR. THOMPSON:  Right.

MR. CULBERT:  You're essentially grossing up the equity and preference share components for tax purposes.

MR. THOMPSON:  All right.

MR. CULBERT:  I would have to provide that.  I don't know the number.

MR. THOMPSON:  Can you just give me a placeholder for the purposes of my cross-examination?  Would it be in the 9 percent range?

MR. CULBERT:  I don't think so.  It would be in the seven-plus percent range.

MR. THOMPSON:  Okay.  Thank you.  Good enough.

And that is just for taxes; right?

MR. CULBERT:  That is how you do the gross return.  It is just for taxes.

MR. THOMPSON:  But depreciation, what would that bring it to?

MR. CULBERT:  Depreciation doesn't enter into the rate of return on rate base.

MR. THOMPSON:  No.  But if you overbudget capital and you are recovering -- that is going into your rate base for recovery purposes, you would recover rate base return, plus taxes, plus depreciation, right, on that item?

MR. CULBERT:  Yes.

MR. THOMPSON:  So I am looking for that percentage number, if you could wrap that up into the undertaking.

MR. CULBERT:  But, again, I can't calculate a percentage based off of that approach, because it would depend on how much rate base variance occurs and how much depreciation occurs.  So it would be a backwards calculation to figure out what my earnings become and what my resulting overearned return is.

MR. THOMPSON:  Okay, fine.  Forget it.  Do it your way.

Now, one other item of information.  The grossed-up for taxes value currently of 100 basis points on ROE, I think we were using 20 million at some point.  Is that in the ballpark?

MR. CULBERT:  Based on our projections, I think it is around $20 million, again subject to check.  It would change every year, obviously, depending on your equity levels.

MR. THOMPSON:  Based on the current situation, if you overearn, the first $20 million is yours under the 100 basis points dead band proposal?

MR. CULBERT:  That is an approximate calculation, yes.

MR. THOMPSON:  All right, thanks.  Now, the second point, I just wanted to understand about information, and maybe the way to do this would be to take a look at CME number 13.  Of course I have to find it.

This is Exhibit I.B17.EGDI.CME.13.  And at subparagraph (a), we asked us to provide us with the 9 plus 3 actual revenue sufficiency or deficiency for 2013, and that was declined.  I appreciate that you do have an undertaking to give us the 12-month situation, and that is coming next week, I believe.

But I would like to understand why the company cannot -- could not provide that number when requested, the 9 and 3.

My understanding is -- my recollection is we've got it in previous cases.  Certainly Union gave it to us, and I believe it is on the record in their settlement case.

But the company declines to provide that information in this case and I would like to understand why.

MR. CULBERT:  Can you scroll down in terms of the interrogatory, please?  My response would be that there was a multitude of things that the company was entertaining with respect to interrogatories, and to perform a full 9 plus 3 utilities earnings calculation requires a considerable amount of time.

As I have mentioned, it is taking my department two to three weeks to do an actual.  It would have taken the same effort by my department to do a 9 and 3 utility calculation.

So there is only so many resources and so much time to do these types of calculations during an interrogatory phase.

MR. THOMPSON:  So is that the explanation, that it would take too much time to do it?

MR. CULBERT:  It would require considerable effort to do inside of an interrogatory phase of a rate application, yes.

MR. THOMPSON:  Yet when other people asked for 9 and 3 information, for example in VECC 15 -- this is I.B17.EGDI.VECC 15 -- you were able to respond to that?

MR. CULBERT:  Yes.  Those were individual items resident in a 9 and 3 forecast for utility financials.

MR. THOMPSON:  I believe there are other interrogatories saying the same thing.  You could give 9 and 3 line item information, but you cannot give the utility deficiency or sufficiency calculation?

MR. CULBERT:  I am not sure what more to tell you, Mr. Thompson.

It is a considerable effort for my department to amalgamate all of the data for our financials and produce an interrogatory response in that time frame.

MR. THOMPSON:  Okay.  So it doesn't have anything to do with securities regulations or something of that sort?  It was just a difficult task?  Have I got that straight?

MR. CULBERT:  They're estimates.  We couldn't release the year-end financials before they were audited and signed off on by the board of directors, but just like in a normal cost of service year, you can certainly do a bridge year forecast -- we are all aware of that -- but in the time frame that we had available to us for interrogatories, we weren't able to pull together a 9 and 3 in the detailed fashion that would have been expected of us.

MR. THOMPSON:  Okay.  Thank you.

Now, the third, my last point of information, relates to this discussion that you were having with Mr. Shepherd about the accounting error.

What I would like you to do, if you wouldn't mind, is -– again, I to have to find it -- turn up CCC No. 12.  I think you mentioned this yesterday, Mr. Culbert.

This is I.A10.EGDI.CCC 12, if somebody could put that up on the screen, page 2?

MS. GIRVAN:  Wasn't it updated through Undertaking J1.3?

MR. CULBERT:  Yes.  We provided the recalculated results as a result of taking into consideration the accounting error in J1.3.  That was provided at the break.

MR. THOMPSON:  It is over here now?

MR. CULBERT:  Yes.

MR. THOMPSON:  Okay.  Give me one second.  That helps.

So if we look at the one on the screen, first of all, at line 4, that is the initially calculated gross over-earnings for each of the five years under the previous IRM; correct?

MR. CULBERT:  That's correct.

MR. THOMPSON:  And --


MR. CULBERT:  Normalized over-earnings.  Correct, yes.

MR. THOMPSON:  I guess we see this actually in J1.3, so why don't we go there?

The total was $228.2 million of over-earnings?

MR. CULBERT:  Correct.  And Mr. Shepherd asked me to confirm that the ratio of amounts of over-earnings for the shareholders was 72 percent versus 28 percent for the ratepayers, and I confirmed that before the accounting error those were the ratios, yes.

MR. THOMPSON:  All right.  But just stopping at the 228.2, I make that to be an average over-earnings per year, and this again is based on a 45 million plus?  That is what the numbers were showing before we discovered the error, right?

MR. CULBERT:  Yes.  If your math is correct, sure, I would agree with that.

MR. THOMPSON:  Okay.  Subject to check, then.

And then the error, the effect of correcting for the error is in the table 1 below; correct?

MR. CULBERT:  That's correct.

MR. THOMPSON:  And if we go to line 4, the total over-earnings, having corrected for the error, is 146.2, which is a difference in the order of $82 million, I make it; have I got that right?

MR. CULBERT:  Yes, I agree.

MR. THOMPSON:  All right.  But even still with the error corrected, the over-earnings on average for the previous five-year plan were in excess of $29 million per year, right?

MR. CULBERT:  Before sharing with ratepayers, yes.

MR. THOMPSON:  Right.  Okay.  Now, who discovered this error?

MR. CULBERT:  As I mentioned yesterday, it was part of the review of the September financial package.  It was financial analysis that was being done, explaining margin, and an extensive review of the explanations of margin was done and that is how the financial analysis error was uncovered.

MR. THOMPSON:  Was it discovered by EI?  I know we pay a lot of money or you pay a lot of money to EI for corporate services, which I thought included audit.  Maybe it doesn't.

MR. CULBERT:  It was discovered by our internal financial team.

MR. THOMPSON:  Okay.  How did EI take it?

[Laughter]

MR. CULBERT:  As you can imagine, an error of this nature is not taken lightly by any management group, including our own and including EI's.

MR. THOMPSON:  Did it have any influence on their directions to you in connection with this plan, like:  Do something to get it back, fellows?

MR. CULBERT:  No.  There was no such communication of that nature.

MR. THOMPSON:  All right.  And when was it discovered?

MR. CULBERT:  In the review of the September third quarter financial results.

MR. THOMPSON:  All right.  Thanks.

Let me move from those preliminaries then, if I might, to your proposal.  And you have covered a lot of this with others, and I am not planning to repeat what others have covered, but just by way of introduction, we understand that your proposal is based on forecasts for each of the years 2014 to 2018; is that correct?

MR. FISCHER:  Yes, that's correct.

MR. THOMPSON:  It is based on forecast for rate base, cost of capital, cost of service, revenues, and revenue requirement, for each of those years; is that correct?

MR. FISCHER:  So it is a forecast of operating costs and all rate base-driven costs, depreciation, cost of capital.

MR. THOMPSON:  And revenue requirement and revenue sufficiency and deficiency?  It is the traditional cost of service forecasting exercise?

MR. FISCHER:  So it is a revenue requirement build-up, which is identical to a cost of service -- forward test year cost of service build-up of costs.

MR. THOMPSON:  Thank you.  Now, can we agree that you should not get an incentive for over-forecasting?

MR. FISCHER:  What we should do is get an incentive to find further efficiencies in excess of what has already been embedded in terms of productivity in our cost forecasts.

MR. THOMPSON:  But that wasn't my question.

Should you –- do you agree with me you should not get an incentive for over-forecasting?

MR. FISCHER:  No.

MR. THOMPSON:  Do you agree with that?

MR. FISCHER:  Yes, I agree.

MR. THOMPSON:  Thank you.

So let me just take a hypothetical here in terms of how your method works.

And just to put this in some context, Mr. Quinn drew your attention to, I think it was, A2, tab 1, schedule 3 yesterday.  This was the updated challenges of an I-X IR model, and there was a chart on page 2.  Do you have that?

MR. FISCHER:  Yes, we do.

MR. THOMPSON:  Okay.  And if we look at the years -- and my understanding is that the numbers there represent your system integrity capital expenditures; is that correct?

MR. FISCHER:  Yes.  In the red, shaded area, yes.

MR. THOMPSON:  So the numbers, if we go from 2007 to 2011, it is 152, 157, 149, 159, 161.  Would you take it, subject to check, that that is about an average of about 155 million per year?

MR. FISCHER:  Subject to check, yes.

MR. THOMPSON:  Okay.  And then it jumps up in 2012 and 2013 by about almost $40 million, and then if we go from 2012 and '13, it jumps up by another 50 million to 2014-2015?  155 on average, up to something in the order of 195, and then from 195 to something over 245?

MR. FISCHER:  Approximately, yes.  I would agree with that, yes.

MR. THOMPSON:  Okay.  And so it has jumped up $90 million in that time frame.  From the average of 2007 to 2011 to what you are presenting in this case, it is roughly $90 million more than that historic spend.  That is what the numbers show.

MR. CULBERT:  Yes, certainly the numbers show that.  If you do a similar comparison to the average of 2007 through 2011, which averages, as you point out, 155 million, and you compare it to the average of 2000 through 2002, it is up by $50 million, sure.  We can see that trend, as well.

MR. THOMPSON:  All right.  That's fine.

We'll be getting to the capital budget panel, I understand, so I am sure these numbers will be subject to greater scrutiny, but what I wanted to just walk through with you to make sure I understand this correctly is a scenario where there is a $90 million overspend in each of the years of your custom IRM plan.

And am I right that in year 1 it would be the grossed-up rate base return on the 90 million that would be overearnings?

MR. CULBERT:  Sorry, Mr. Thompson, you said overspend.

MR. THOMPSON:  Did I say overspend?  Underspend; Freudian slip.  You would never overspend.  So we have an underspend of $90 million.  To determine the overearnings impact of that in year 1, it would be the 7 percent times the 90 divided by 2, as I understand it?

MR. CULBERT:  It would be 36 percent times the $90 million, because that is our equity level.  So 36 percent of 90 million.  If the 90 million was fully effective for the year, it would be 36 percent of 90 million times the gross rate of return of seven-point-some-odd percent, yes.

MR. THOMPSON:  Why is it only 36 percent?  You are getting the full rate base return on that 90 million.  So I am understanding, it is 7 percent times the 90 divided by 2 for the first year, and then for year 2 it is the full year, plus that amount again for year 3.

If that situation persists, you can go through the math and you can see what a $90 million underspend would produce in overearnings accumulated over five years.  It is a very large number; would you agree with that?

MR. CULBERT:  Certainly I could do a calculation of that nature, and, as the company has stated in its evidence, we believe our forecasts of capital spends are at the minimum level, and that risk is on the other side of the equation, as well.

MR. THOMPSON:  Yes, fine.  But would you do a calculation, then, of that nature to show me what a $90 million spend would produce in overearnings on the assumption it continues in years 1 to 5 of your IRM plan and on the assumption that the rate base return is the -- grossed up for taxes is in the order of 7 percent?

MR. CULBERT:  Certainly we can do that calculation.

MR. THOMPSON:  Thank you.

MS. SEBALJ:  That is J2.3.

MS. CONBOY:  Thank you.

MR. CULBERT:  Actually, I think that is J2.4.

MS. SEBALJ:  Sorry, I just want to be clear.  What was 2.3?  Oh, sorry, you are right.  There was one that was almost marked previously, so I want to make sure it wasn't that one.  Thanks.
UNDERTAKING NO. J2.4:  TO PROVIDE CALCULATION OF WHAT A $90 million UNDERSPEND WOULD PRODUCE IN OVEREARNINGS ON THE ASSUMPTION IT CONTINUES IN YEARS 1 TO 5 OF THE IRM PLAN AND ON THE ASSUMPTION THAT RATE BASE RETURN IS GROSSED UP FOR TAXES AT OF 7 percent.

MR. THOMPSON:  Okay, thanks.  Let's move on, then, to my next topic, which stems from the slide presentation you made yesterday.

MS. CONBOY:  Mr. Thompson, I am happy to let you continue, because I did say quarter to, but if you are moving on to a new topic, would it be better if we broke five minutes early?

MR. THOMPSON:  That would be fine.  I wanted to hold your attention on this one.

[Laughter]

MS. CONBOY:  It is up to you.

MR. THOMPSON:  No, no, that's fine.

MS. CONBOY:  Okay.  Why don't we go ahead and break now for an hour and we will come back at 1:40, thank you, with an updated score; right?
--- Luncheon Recess taken at 12:35 p.m.
--- On resuming at 1:46 p.m.

MS. CONBOY:  Thank you.  Please be seated.


If I understand correctly, Enbridge has withdrawn its request for confidential treatment of the strategic plan that we were discussing this morning.

MR. CASS:  Yes, that's correct, Madam Chair.  Without any concession, general concession about the treatment of plans in any other cases, Enbridge will withdraw its objection to Exhibit J1.4-X going onto the public record.  That's correct.


MS. CONBOY:  Thank you.  As a result of that, the document and the transcript of this morning's cross-examination on that document, on the strategic plan, will now be placed on the public record, and the exhibit can now be identified as J1.4.


Certain information regarding other Enbridge businesses has been redacted from that document.  As the Board does not regulate any of those entities of the businesses concerned, we are prepared to accept the document redacted and as filed.


MR. CASS:  Sorry, Madam Chair, just one other preliminary matter.  There are some undertaking responses.  I just wanted to make the Board aware of that.


MS. CONBOY:  Thank you.  Could you tell us what we have in front of us?


MR. CASS:  Yes, I can.  I neglected to mention that there was one handed out at the break earlier today.  That was Undertaking J1.3.  I think it has perhaps already been referred to.  I just did not mention on the record that that had been passed around.

MS. CONBOY:  Thank you.


MR. CASS:  And then we have, I believe, three more.  Those are Undertakings J1.1, J1.8 and J1.10.  J1.8 is, in particular, the undertaking response that Board Staff was awaiting with respect to the NPV calculation.  So that is one of the three new responses that are now available.

MS. CONBOY:  Thank you very much.  I also have in front of me CCC Interrogatory 1 and some transcript references.


MS. SEBALJ:  Those, I think, are materials to which Mr. Shepherd will be referring once the expert panel is on.


MS. CONBOY:  Okay.  Thank you very much.  It is just starting to get hard to keep track of everything that is on our -- on the dais up here.  Thank you very much.


Mr. Thompson, we will continue with you, and I believe you have an hour and a half left.

MR. THOMPSON:  Yes, that's is my allotment.  I think I will be finished before then, but -- hopefully I will.

MS. CONBOY:  Thank you.
Continued Cross-Examination by Mr. Thompson:


MR. THOMPSON:  Panel, I would like to turn to another topic, and this is this question of the classification of your proposal as a custom incentive regulation plan.

Others, as you have pointed out in your slide presentation yesterday -- this is Exhibit K1.2 at page 7 -- others take the view that it is a cost of service plan, and I understand that you resist the cost of service classification; have I got that straight?

MR. FISCHER:  So we would describe our customized IR plan as an incentive regulation model, rather than a cost of service model.

MR. THOMPSON:  Yes, I understand that, but I took it that you think that is important for some reason.  Is it?  Or have I misunderstood your view on this topic?

MR. FISCHER:  Well, I think it is important to the extent that what we're applying for is an incentive regulation approach to ratemaking as opposed to a cost of service or even a multi-year cost of service application.

MR. THOMPSON:  Okay.  So let me ask it this way.  Suppose the Board rejects your classification of this as a custom incentive regulation plan, and says:  No, it's in pith and substance a cost of service, five-year cost of service.

Have you thought about that contingency?  Do you have any -- this is a similar question others asked you, but I am coming at it a slightly different way.  Have you addressed that contingency in your planning?

MR. RYCKMAN:  We don't have an alternative plan at this point.  Again, I think Mr. Culbert touched on this earlier.  We would have to see the Board's decision to determine what our next steps would be.


One of the challenges we know that we have with I-X is it's not sufficient to provide the resources that we need.  So coming back with an I-X would be very problematic as well.  But we would have to really see the decision before we could decide what we had to do.

MR. THOMPSON:  I heard you say that this morning.  I am a little bit puzzled by that, because others had to argue this case, including yours truly, and I am sure some will be saying:  Well, it is a cost of service plan.  Treat it as a cost of service plan.  And that involves some consequences.


Are you anticipating you are going to get another kick at this 2014 cat?

MR. RYCKMAN:  We have put an application before the Board which we feel is appropriate, and meets the needs of the business in terms of an IR plan.


You can look at Exhibit A2, tab 1, schedule 1, page 4, and there is a table that sets out the elements of this, of the plan.  You can see that they're very similar to what was included in the first generation IR plan.

MR. THOMPSON:  We also feel, if I can just add to that, that our plan meets the Board's objectives as we enumerate through our evidence, both as spelled out in the Natural Gas Forum and as spelled out through the RRFE.

MR. THOMPSON:  Okay.  Well, let me move on to another approach at this.


In your slide presentation at page 3 -- this is Exhibit K1.2 -- you mention the fundamental elements of incentive rate plans.  Do you see that?

MR. FISCHER:  Yes, I do.


MR. THOMPSON:  Okay.  I would like to come at it by looking at the fundamental elements of a cost of service mode of regulation, and see if you can agree with me that these include, first of all, a request for rate changes based on year-over-year forecasts of rate base, cost of capital, revenues, cost of service, revenue requirement.


Can we agree on that?

[Witness panel confers]


MR. FISCHER:  Yes, I think we can agree on that.  But the main difference, of course, is that it is done on a forward test year basis as opposed to five years, as is the term for our IR plan.

MR. THOMPSON:  Right.  Well, there is nothing, I suppose, to prevent you from having a multi-year cost of service presentation, but would you agree that in a cost of service presentation, the forecasts in each year are adjusted to reflect the historic year and the bridge year?  In other words, there's some linkage to prior year costs?

MR. CULBERT:  Yes.  Annually, the Board would go through a review of historical results versus previous test year results, and bridge year as well, and take that –- and so would the company take that into consideration in terms of its forecast of costs for upcoming years, yes.  I agree.


MR. THOMPSON:  So in your multi-year approach, if we move from year 2014 to 2015, 2015 would be adjusted to take into account the estimated actuals for 2014, right?  In a cost of service mode?

MR. CULBERT:  In a cost of service mode, our forecasts for our subsequent test year would take into consideration historical results and re-estimated bridge year results, yes, on a continuous basis.


MR. THOMPSON:  And in terms of the 2014 year, in that kind of a mode, any over-earnings that you realized in that year would accrue entirely to the shareholder, but that would be adjusted for the purposes of the following year?


In other words, you wouldn't share in over-earnings attributable to 2014 for the entire five years; it would stop at the end of that year?

MR. CULBERT:  If there were over-earnings that were pertinent to the numerical results that were opined on by the Board for rate-setting purposes in any one year and those results were different in actuals, yes, they would only accrue to the company, or to the detriment of the company for one year.  Absolutely.


MR. THOMPSON:  Understood.


Now, I understood you to say to someone this morning that when you come in for your -- the adjustments that you are proposing under your plan -- earnings sharing, I think you were talking about -- you indicated that there will be -- there will be actual rate base numbers and utility numbers for the completed year?

MR. CULBERT:  That's correct.  Under cost of service or IR mechanisms, we believe, and I think the Board agrees and everyone else agrees, that you have to view the utility results from an actual perspective, yes.


MR. THOMPSON:  Right.


MR. CULBERT:  Absolutely.


MR. THOMPSON:  So if there were to be an additional adjustment in 2015 to reflect 2014 actuals, the data would be there, correct, based on what you are talking about with your earnings sharing filing?  We would know the overearnings amount or the revenue sufficiency amount.  We could take that into account in setting the 2015 rates?


MR. CULBERT:  You wouldn't actually have -- because of the timing of events, as you are aware, you wouldn't actually have 2014 results in time for our rate application as we proposed.  You need to file your application for rates in advance of the fiscal year, so you wouldn't have historical year results from the prior year.


MR. THOMPSON:  Well, you could estimate them.  Just as you do now in a cost of service, you could --


MR. CULBERT:  You could estimate a bridge year, but that wouldn't be necessarily indicative of the final results, but...


MR. THOMPSON:  All right.  Well, they will be there when you do the earnings sharing proposal, which is after year end; right?


MR. CULBERT:  That's correct.


MR. THOMPSON:  We could do the adjustment then.


MR. CULBERT:  There would be a visible sight line to what the -- if there were any overearnings, what they stem from; correct.


MR. THOMPSON:  Okay, thanks.  Now, in terms of another feature of cost of service regulation -- and you were discussing this with others this morning -- it's the pass-through items and deferral accounts.  That is all cost of service mode; right?


MR. CULBERT:  Correct.


MR. THOMPSON:  Okay.  We were trying to get a handle on the proportion of your requirement that is subject to that facet of cost of service regulation.


There is two documents I would like you to turn up just to help us with this.  The first one is Exhibit K1.3, which is Mr. Shepherd's spreadsheet.


Do you have that?  I see it is on the screen.


MR. CULBERT:  Yes, we do.


MR. THOMPSON:  I will just stop there and deal with that, if I might.


So this is just dealing with delivery revenue requirement; correct?


MR. CULBERT:  Yes, this is just looking at net of gas costs, so DRR, yes.


MR. THOMPSON:  Down at line 31, Enbridge has filed with the SRC and pension backed out, it is about $6 billion; is that right?


MR. CULBERT:  That's correct.


MR. THOMPSON:  And then if you look at line 18, the Y factor amounts are -- sorry, so is 6 billion including Y factor or excluding Y factors?


MR. CULBERT:  That is including Y factors.


MR. THOMPSON:  Okay.  So up above we have the Y factors of 18.  It is about 1.1 billion; right?


MR. CULBERT:  That's correct.


MR. THOMPSON:  And so if we express 18 as a percentage of 31 for those items, that would give us, big picture, the proportion of the 6 billion that is covered by these particular cost of service factors, a percentage that is in the order of 18 percent, if you would take that subject to check.


MR. CULBERT:  That's correct.


MR. THOMPSON:  Okay.  Then in addition to those, now we have to turn up TCU2.1.  This is an undertaking that stemmed from a question we asked you, which was to identify all of the components that were subject to this kind of protection.


So what we have in line 18 of Mr. Shepherd's exhibit are the customer care, DSM, gas and storage, GTA and Ottawa projects totalling roughly 1.1 billion over the five years.


Then in addition to that, if we would look at this exhibit starting at page 2, at line 3b we've got relocation mains variance account and replacement mains variance account, and those numbers total cumulatively about 1.7 million.  Would you take that subject to check?


MR. CULBERT:  Certainly, yes.


MR. THOMPSON:  And then on the next page, we've got the pension line, which is at line 5c, and those numbers total, would you take subject to check, the 164.6 million?


MR. CULBERT:  Yes, subject to check, sure.


MR. THOMPSON:  Then the next line, Ontario rate hearing costs, those total, subject to check, $32 million.  Would you take that subject to check?


MR. CULBERT:  Yes.


MR. THOMPSON:  Then on the next page at line 6b and 6c, we have another $400,000 for relocation mains and replacement mains; right?


MR. CULBERT:  Yes.


MR. THOMPSON:  And you total all of that up and we get it to be -- and this may not be bang on, but it is in the order of $197 million.  Would you take that subject to check?


MR. CULBERT:  Yes.


MR. THOMPSON:  So we would have to add that to Mr. Shepherd's 1.1 billion, which brings it up to about $1.3 billion, subject to variance account and pass-through protection, out of the 6 billion?


MR. CULBERT:  Yes.  The majority of the amounts you are speaking to, as we know, are previously Board-approved amounts from other proceedings.


MR. THOMPSON:  I am not questioning the --


MR. CULBERT:  I understand.


MR. THOMPSON:  -- the timing of the approval.


So of the one billion, big picture, about $200 million -- sorry.  Of the one billion in -- I better back up.


So we are at a percentage of about 22 percent coverage for deferral and variance accounts and the Y factors, and then if we get back on this Exhibit TCU2.1, if we go to page -- where did I see this?


So the requirement, roughly, on an annual basis is, what, including gas costs?  It looks to me like -- I looked at line 21 as being the requirement line.


MR. CULBERT:  That's correct.


MR. THOMPSON:  Okay.  And then the gas cost line we find at line 4.


MR. CULBERT:  Yes.


MR. THOMPSON:  And I took it in column 1, year 1, and big picture said that the delivery-related annual requirement is about $1 billion.


MR. CULBERT:  That's fair, sure.


MR. THOMPSON:  Okay.  And so over 20 percent of it is covered by deferral accounts and Y factors, leaving $800 million as the subject matter of an IRM plan.


MR. CULBERT:  That's a fair statement.  The 200 million we're speaking about I think we would agree would be the similar -- have similar treatment in either a pure I-X approach or a customized IR approach, as we have -

MR. THOMPSON:  The way I would phrase that is an IRM plan is a blend that's going to have the cost of service elements of these Y factors and deferral accounts, and then there is a chunk of it that is subject to the incentive --


MR. CULBERT:  Certainly.


MR. THOMPSON:  -- plan, okay.


So that then brings me to:  What do you say are the fundamental elements - this is the phrase I think you used in your presentation - of an incentive regulation plan?


MR. FISCHER:  So that approximate $800 million that you and Mr. -- Kevin was talking about -- Mr. Culbert, sorry.  That essentially is the revenue cap amount that is determined in our approach through a build-up of the cost elements.


And in an I-X approach, the revenue cap is determined through a formulaic approach.


So in both cases they are IRMs, and it is just how the revenue cap is determined.  So that would be a key similarity between both of our -- both of those approaches.


MR. THOMPSON:  Well, I am not so sure that answered my question.  In terms of the fundamentals of a cost of service plan, it's the increases in rates from year to year stem from forecast revenues, costs, rate base and so on.


In an IRM plan, are you saying those are –- that increases in rates stem from the same thing?  Because I think that is where we part company.


[Witness panel confers]


MR. LISTER:  A couple of points here, and I will ask my fellow panel members to help me out.


But we view, in a traditional or an I-X regime, the I factor, the inflation factor, is essentially the means by which a re-forecast is done.  The difference is it is set in advance and it is set per some factor, say GDP IPI FDD, or some other blend of series to measure.


Whereas in our plan, we have done more of a fundamental cost projection or forecast.


The other point I wanted to draw out was that in the RRFE -- I don't have it in front of me, but the caption about what constitutes a custom IR speaks directly to being informed by a company's forecast of revenues and costs.


MR. THOMPSON:  Okay.  So let me put it to you this way.  What I would suggest to you as a fundamental of an IR plan is an escalator that does not stem from year-over-year forecasts of costs and revenues, rate base and so on.


It is an escalator that is derived from inflation and productivity, and that, I suggest, is a fundamental of incentive regulation plans.


Do you agree with that?


MR. FISCHER:  So in our case, the escalator is derived by the determination of the revenue cap through the determination of the build-up of the allowed revenue.


MR. THOMPSON:  Right.  That is a cost of service --


MR. FISCHER:  So the -- so the growth in terms of the requirement is determined that way, rather than through an I-X escalator.


In both cases, there is an escalation over the IR period that falls out.


MR. LISTER:  I think our view also is, as Mr. Fischer reviewed or announced yesterday in his initial presentation, it was also informed by the building blocks methodology, which we see as a fundamental form of incentive regulation, just as an I-X plan would be.


So in our view, as long as the appropriate incentives are resident within the plan and it can meet the Board's objectives, then we believe that the plan has merit and is worth consideration.


MR. THOMPSON:  All right.  Well, I won't argue with you –-


MR. LISTER:  Productivity as well.


MR. RYCKMAN:  The other thing that I would add is in an I-X, what you are doing is you're saying that X is a reasonable -- or I is a reasonable proxy for where costs are going.  And through the customized IR, we have developed our forecasts because that proxy just doesn't work.


The other thing is that I see one of the fundamental things with incentive regulation is actually decoupling the revenue from the costs, and our plan does that as well.


MR. THOMPSON:  Well, your plan decouples revenue from costs just like every cost of service plan decouples revenues from costs in the year of operation.


In other words, they're based on forecasts...


MR. RYCKMAN:  It decouples revenues from costs for the full term of the plan.


MR. THOMPSON:  Right, but a cost of service does that as well.  For example, in your 2014, your revenues in that year are decoupled from actual costs under cost of service, right?


MR. RYCKMAN:  For the year they are, yes.  And --


MR. THOMPSON:  Right.  And then the next year, what you have is, again, forecasts for 2015 that are decoupled from revenues -- revenues are decoupled from actual costs in that year.  The only thing is they're trued up for actual costs in preceding periods?


MR. RYCKMAN:  Yes.  The challenge I have is that analogy is assuming that so if I am resetting costs every year, then that is a cost of service.  There is no incentive.


So in the incentive regulation, it is important to decouple the revenues from the costs and for the company to be able to go away and manage the business and to try to drive out efficiencies.


MR. THOMPSON:  There is incentive.  You have your forecast for 2014, and to the extent you have actuals less than those forecasts, you benefit, 100 percent.


MR. RYCKMAN:  But under cost of service, once again, with a one-year runway, if you will, those -- those incentives are very -- can be very short-term, and again, with a longer-term incentive plan, you are looking to drive out sustainable efficiencies.


And so incentive regulation was developed for very specific reasons, and those reasons are why we have moved away from cost of service.


MR. THOMPSON:  In year 2, to the extent your forecasts are greater than actual costs, you get 100 percent of that year's benefit.  And so on.


It is not that you are losing benefits.  It's that the benefits are being constrained to be closer to costs as the plan moves on.


So there is still incentive there.  Maybe not as much as you would like.


MR. RYCKMAN:  There is still incentive in cost of service, absolutely.  There is always incentive to manage the business well.


Through incentive regulation, you have a longer term for which to drive out that productivity and benefit the shareholder and longer-term benefits for ratepayers.


MR. THOMPSON:  Okay.  Turning to the RRFE, and you quote this at page 4 of your opening presentation yesterday, K1.2.  The quote is that:
"Custom IR is one of three methods for electric utilities and are most appropriate for distributors with significantly large multi-year or highly variable investment commitments that exceed historical levels."


You rely on that quote, as I understand your position; have I got that straight?


MR. FISCHER:  Yes.  So I think the way I described it -- and this quote is also in our evidence -- that this describes the circumstances that Enbridge faces very closely as well.


MR. THOMPSON:  Okay.  But can you agree -- can we agree that custom IR is not defined in the RRFE as a multi-year cost of service model?


MR. FISCHER:  I don't think it is defined as a multi-year cost of service model.


MR. THOMPSON:  Thanks.


Now, in terms of addressing these large multi-year variable investment commitments, within the Board's scheme of things, they have tried to address that with the incremental capital module?  That is one mechanism that's there in electrics?


MR. LISTER:  Yes.


MR. THOMPSON:  And do you know how that works?


MR. LISTER:  Concentric undertook in their analysis a detailed review of ICMs.  So yes, we have an understanding by way of the Concentric report.


MR. THOMPSON:  Okay.  And there is a calculation, as I understand it, that is done to evaluate what -- I may not be putting this completely correctly -- but to evaluate what sort of level of capital expenditure current rates will support.  That is my paraphrase of it.


Is that your understanding?


MR. LISTER:  That is our understanding, yes.


MR. THOMPSON:  Has that calculation been done?


MR. LISTER:  Yes.


MR. THOMPSON:  And what level of capital do your current rates support, capital expenditure?


MR. LISTER:  Again, that was an analysis conducted by Concentric, so I would invite you to ask them the question when you are cross-examining those witnesses, but it is contained within their report.


I don't have a specific cite at the ready, but...


MR. THOMPSON:  Just give me the number, big picture.


MR. LISTER:  It would take me a few minutes to find it.  I can direct you to the piece of evidence or take an undertaking to find it more precisely, if you'd like.


MR. THOMPSON:  Okay.  Does anybody on the panel know the number that your existing rates support in terms of capital expenditure?


MR. LISTER:  It might be more efficient if I just take an undertaking.


MR. THOMPSON:  All right.  Well, just before you do that, let me draw one more document to your attention, Exhibit B2, tab 1, schedule 1, page 44.  This was something that was filed just recently, and it's got the update to 2013 actual capital expenditures.


Is that capable of being put up on the screen, by any chance? No?  Okay.


If you go down to the bottom there, gentlemen, in line G, this is showing in column 1 the budget 2013, and it is broken down, as I understand it, between capital expenditures, and then leave to construct capital expenditures.  So Ottawa reinforcement, GTA reinforcement are down below.  Is that fair?


MR. CULBERT:  That's correct.


MR. THOMPSON:  And so when you are talking about core capital, is that line G that you are talking about?


MR. CULBERT:  Exclusive of line F, which is the work in asset management system that we are replacing.  It is actually line E, but -- it is really line E.


MR. THOMPSON:  Line E is the correct one?


MR. CULBERT:  Yes.


MR. THOMPSON:  So thank you.


So you have told us that -- so line E is showing core expenditures of 386 million and actual in 2013 of 441.6, which I suspect there might have been a fair bit of capital spend right at year end.


And you have told us you overearned in 2013.  Does this mean that your existing rates are capable of supporting core capital expenditures in the order of $400 million?


MR. CULBERT:  Not necessarily, Mr. Thompson.  Our actual spend would actually be -- because it has not been incorporated into the results that we have applied for in this proceeding, our deficiencies are probably understated relative to just that capital spend amount, but that is not the only thing that affects earnings versus forecast.


MR. THOMPSON:  Okay.  Well, I wanted to draw this to your attention so that when you answer your undertaking, you correlate it to this document, which is telling my simple mind that your existing rates are capable of supporting core expenditures in that order of magnitude, but obviously I am not right.


So could that be factored into the undertaking response, Mr. Lister?


MR. LISTER:  So if I can play it back to you, you would like to know what level of capital our existing rates could support by way of capital?


MR. THOMPSON:  Correct, correlated to the amounts spent in 2013.


MR. LISTER:  How would you like us to handle, then, O&M, municipal taxes and all of the other elements that go into defining revenues?


MR. THOMPSON:  Well, we were talking earlier about the Board's ICM calculation.


MR. LISTER:  Yes.


MR. THOMPSON:  So I assume that what you are going to do is going to have some relationship to that method of calculating what the rates are capable of supporting.


MR. CULBERT:  As I have said, Mr. Thompson, the fact that the company spent more than was approved in 2013 doesn't necessarily suggest that that spending is in fact driving out additional earnings.


It is other things that could be affecting earnings.  So the calculation, I am going to hazard a guess -- I don't know a lot about the ICM in detail.  I am going to hazard a guess the calculations that have been performed look at the requirement impacts that are resident in the base year, 2013, and the 386 spend and extrapolate going forward saying:  How much room do you have inside of a revenue requirement going forward?  That is my guess.


So I don't think the actual spend would have anything to do with what rates are producing as a head room going forward.


MR. THOMPSON:  Okay, fine.  So cover that off, please, in the undertaking response.


MS. CONBOY:  Are we clear what is being requested in that undertaking?  Because I am not.

MR. FISCHER:  Mr. Thompson, could I just -- I am thinking I understand what you are looking for here.  Are you looking for how much additional capital we would spend on an ICM methodology that it would effectively allow for if we were to apply that?  I know we have not done that, but is that what you are looking for?


MR. THOMPSON:  I think that is what I am looking for.  It is the ICM methodology applied to your situation, and that will tell us, as I understand it, what the Board regards as being the threshold for some additional Y factor capital expenditure coverage.


MR. FISCHER:  So what I do know, though, is in the work that Concentric did -- so we relied on them to complete the ICM analysis, because it is very complicated from our perspective.  It is a formulaic-driven result.  And I know the conclusion, when they applied the ICM to our capital cost forecast, was that there were -- there were huge deficiencies in terms of revenue generated from that versus what we're applying for in our application here.


So I know for sure that the answers are going to be much lower than what our budgeted capital forecast is.


MR. THOMPSON:  Okay, let's just get the threshold that the ICM produces on the record and we will leave it there, because Concentric obviously accepted your forecast.  They didn't drill down and say these are excessive.  They just looked at them and said these are your forecasts; right?


MR. FISCHER:  So, yes, we gave them our forecast and we didn't ask them to comment at all on the forecast.  They used it directly.


MR. THOMPSON:  All right.  So let me -- let's move on from that.


MS. CONBOY:  Sorry, Mr. Thompson, are you asking for Enbridge to calculate the ICM threshold of line E in this table?


MR. THOMPSON:  I think that is --


MS. CONBOY:  Is that the undertaking?


MR. THOMPSON:  Yes, I think it is.


MS. CONBOY:  From what I understand, the witness panel is saying perhaps Concentric did that calculation, and I am wondering if we could put a placeholder for that undertaking.  When Concentric comes to the witness stand, if you can -- you could ask that question, and if you have the information you need, then we don't need the undertaking.


If you still need that information, then we can keep that undertaking valid.


MR. THOMPSON:  That is satisfactory.  Thank you very much.


MS. CONBOY:  Thank you.


MS. SEBALJ:  So we will give it a number as a placeholder or...


MS. CONBOY:  Yes, please.


MS. SEBALJ:  J2.5, assuming the company has agreed to provide the undertaking.

UNDERTAKING NO. J2.5:  TO PROVIDE ICM THRESHOLD CALCULATION.


MR. FISCHER:  We have.  We will.


MS. SEBALJ:  Thank you.


MR. THOMPSON:  Now just before I leave this capital business and your contention that you're having incremental core capital problems, did you consider an incremental core capital Y factor in some sort -- of some sort, or was that too complicated for you?


MR. LISTER:  I think, as we indicated yesterday and perhaps again today in our evidence, we do describe what we did consider, and that included a variety of Y factors.


If you are asking did we include a scenario where perhaps we Y factored, so to speak, all of core capital, I don't think we did.


In our view, that would have been offside in terms of it being considered a targeted performance base regulation format, which our understanding would not have been received very well by anybody.


So, no, we didn't look at that specifically.


MR. THOMPSON:  Thank you.  Now, looking to the escalation factor and what I call a traditional IR plan and a fundamental of an IR plan, in your last plan you had I derived from the GDP IPI, right?  It was good enough then?

MR. LISTER:  We had the I factor was set as GDP IPI FDD, yes.


MR. THOMPSON:  Is it good enough now?

MR. LISTER:  Is it good enough now?  Our analysis shows that using reasonable amounts for I and X, we would not have the resources required to undertake all the spending plans that we have.  And that included an I factor forecast, I believe, that was higher than GDP IPI.


So I think the answer to your question is no, it's not good enough.


MR. THOMPSON:  I phrased my question poorly.


You accepted GDP IPI last time around as a reasonable measure of inflation, and it was incorporated into your plan; fair?

MR. LISTER:  That's what we did in the first generation, yes.


MR. THOMPSON:  My question is:  Is GDP IPI today a reasonable measure of inflation?


MR. LISTER:  And I think my answer was no, not for our circumstances.

MR. THOMPSON:  Not for your circumstances?  What circumstances is it reasonable for?


It seems to be reasonable for Union.

MR. FISCHER:  So I know we have evidence on this topic that looked at the experience during the first generation IR.


So the effect of I-X was, if I recall, around 0.7 or 0.8 percent that resulted from that, from the actual GDP IPI, and then applying the percentage approach to coming up with an adjustment for productivity.


Our evidence demonstrates that we require an I-X of around 3.4 percent to provide Enbridge with the opportunity to earn the allowed return.  So that is a very huge gap, 3.4 percent versus 0.8.


It obviously would be different on a go-forward basis, depending on what future GDP IPI would be, and also depending on what an X would be, but clearly that kind of shows the difference that the prior I-X approach --


MR. THOMPSON:  You're not understanding my question, gentlemen.


You are backing into a number from what you've developed in your five-year cost of service.  I am asking you on what -- you don't like GDP IPI as an information source for determining a reasonable measure of inflation.  What is the information source -- apart from Enbridge -- what is the information source we should be using in your evidence for determining inflation?

MR. RYCKMAN:  Mr. Thompson, I think one of the things to consider here is inflation is a component, but it is not the only component.  What's happening here over the forecast horizon is there's more units of work being done.

So it is not just an impact of inflation; it is the impact of more work being done over that period.

MR. THOMPSON:  It's a simple question:  What information source does Enbridge Gas Distribution regard as appropriate for determining inflation?  GDP IPI, or if it's not that, what is it?  CPI?


MR. LISTER:  Let me try it this way.  Our expert conducted an analysis of a more appropriate measure of inflation, and to do that they constructed a three factor analysis.  And I am sure you are aware of that sort of analysis.  I know it was a topic of discussion in the Renewed Regulatory Framework.


We took the output from that analysis and conducted our own analysis, to test whether or not that would allow us to meet the obligations that we have for spending.


We determined that it didn't.  And then the rest is -- has unfolded as it has.


MR. THOMPSON:  What do you say is inflation going to be in 2014?

MR. LISTER:  Which inflation are you asking for?  There are a variety of measures of inflation, and what I was responding to was saying, you know, GDP IPI is a macroeconomic Canadian measure.


The study that our experts undertook tried to develop a gas distribution measure.

Is one of those more or less relevant to your question?

MR. THOMPSON:  Well, don't you use an inflation forecast in developing your O&M expenses?


MR. LISTER:  There were certain areas, yes, and we covered a bit of this yesterday, where --


MR. THOMPSON:  What is the source of that information for inflation?


MR. LISTER:  You would have to ask the specific panel.  I don't know how they arrived at the numbers, the inputs to those numbers.


It may have been that they used the Concentric advice, which I believe was around 2 and a half percent.  They may have used a standardized inflation target of 2 percent.

MR. THOMPSON:  So you don't know?

MR. LISTER:  Well, I think we're having trouble because there was no broad inflation, I think, as you are trying to describe it.  This is not an I-X plan.

MR. THOMPSON:  Okay.  Let me move on, then, to some of your evidence about I-X doesn't work for EGD.  You said a lot about that.


If we look at it, though, historically, would you agree with me that I-X does work -- or did work very well for EGD?

MR. CULBERT:  As I mentioned earlier, I-X during the first term had some variations in costs relative to the base rates that were used as the platform for the I-X rates.


And at that time, we had increases in depreciation expense which outpaced any I-X factor, but we also had declines in absolute interest costs, which were on the underside.


So then there were a variety of other cost pressures and things that the company was able to do in terms of spend and mix of spend during the term.


But I-X works because of circumstances during that five-year period.  And what we're saying is the circumstances have changed.


MR. THOMPSON:  Okay.  Well, then, just quickly, though, in terms -- let's go back to J1.3, and line 5 in the table -- sorry, line 4, excuse me.  The table at the bottom.  We were talking about this earlier, where you had 146.2 million of over-earnings over the five years?


MR. CULBERT:  Correct.


MR. THOMPSON:  And would you take --


MR. CULBERT:  Before earnings.


MR. THOMPSON:  -- subject to check that the cumulative escalators derived from the I-X model in those five years, for those five years was $86.8 million?


I have taken that from the ESM presentation for 2012.

MR. CULBERT:  Yes, you are taking that from my evidence in that proceeding?  Yes, I would agree.


MR. THOMPSON:  And that is an average of 17.4 million per year by way of escalation, and you were able to over-earn over 29.2 million per year, under an I-X model?

MR. CULBERT:  On a before-earnings sharing basis, that's correct.


MR. THOMPSON:  Correct, yes.  So that's -- I-X worked very well historically?


MR. CULBERT:  And if you were to look in the financial statements that were provided today, it is clearly explained in that document and in the strategic plan document that interest savings were a big driver, along with other things that the company was able to do with respect to its spend, a big driver during that term.

MR. THOMPSON:  Okay.  I accept that, and you are right.  That is in there.


Now, I was derived from GDP IPI for that plan, and X was expressed as a percentage of inflation in that plan; is that fair?

MR. CULBERT:  X was expressed as a coefficient, therefore an allowance of GDP IPI or the inflation factor, yes.


MR. THOMPSON:  So it was similar to what the Union plan going forward is?  Union has X expressed as a percentage of inflation -- percentage of I?

MR. CULBERT:  Yes, that's right.


MR. THOMPSON:  And that stemmed from your initial model?  That's a similar type of approach; fair?


MR. LISTER:  It may well have.  Again, we weren't privy to those discussions so we don't know where the idea came from, but presumably it came from our model.


Their percentage of inflation is actually higher than what we had.

MR. THOMPSON:  Now, in terms of I-X under your approach, if we use GDP IPI, the I was 1.7 percent, I believe?  This is in some of these exhibits you have filed.


And taking Union's X, the I-X was 40 percent of 1.7 or 0.7 percent; is that correct, Mr. Culbert?


MR. CULBERT:  Correct.


MR. THOMPSON:  Then you had growth of 1.7, producing an escalator of 2.4 percent; right?


MR. CULBERT:  Correct.


MR. THOMPSON:  Okay.  In terms of the ability of that escalator to provide O&M coverage, if you would turn up CME number 6, this is I.A2.EGDI.CME.6.


You will see there that the inflation targets that are embedded in your O&M are all less than 2.4 percent; right?


MR. CULBERT:  We agree, sure.


MR. THOMPSON:  And so I would suggest to you that I-X that produced 2.4 percent provides you with more O&M coverage than you are actually asking for.


MR. LISTER:  That's true.  And that's one of the highlights that Mr. Fischer made yesterday.  That was also part of the study that Concentric did.


They conducted what is known as a PFP test, or partial factor productivity, and they determined exactly that, that the O&M could be covered by an I-X.


MR. THOMPSON:  Okay.  And a 2.4 percent I-X provides more coverage than you need?


MR. CULBERT:  So in looking at individual line items, you can certainly make that type of conclusion, which I have specified before.


And you can look at depreciation in the same vein, which I am willing to provide an undertaking to show the results of the same type of equation that results in an under -- pardon me, in recovery of depreciation expenses.


So I can provide a table that does the same thing for depreciation expense and look at interest.  The fact of our application is, when we look at all of our costs that are hitting our financials combined, as was shown in BOMA 2 updated February 2nd -- or February 18th and as Mr. Shepherd and I discussed in K1.3, the application of that I-X model that Union is using leaves us $333 million shy in terms of our projections of what our allowed revenues are.


MR. THOMPSON:  I am going to come to that.  But the $333 million looks to me like it is more -- it is mostly capital related.


MR. CULBERT:  There's a large element of it which is capital related, again, which includes all of the revenue requirement implications of capital.  It is not just return on capital.  It is depreciation and income taxes, et cetera.


MR. THOMPSON:  Okay.  So the conclusion I put to you is I-X works, subject to capital protection that is reasonable.  Is that a fair conclusion to draw?


MR. LISTER:  If you are asking -- the insinuation is that we would accept a targeted performance base plan, where maybe O&M was governed by minus X.


Again, we don't think that this is what the Board's intention is.  So I think we answered the question.  Yes, mathematically we've shown that I-X, O&M is less than the I-X outcome for O&M.


But, of course, the businesses are much bigger than the O&M. They are all the other moving parts.


MR. THOMPSON:  Let's move on to the 333 million spread, briefly.


We know one component of that is the 130 million linked to holding ROE to 8.93 versus buying into your forecasts; right?


MR. CULBERT:  So as I responded to Mr. Shepherd yesterday, we will be providing a response to his question about the other drivers.  Namely, he asked about system integrity and what its impact is in terms of the variance that occurs, but there is other elements that are affecting that variance.


Namely, the scenarios that we're performing here are providing for an increase in revenues from different things than are included in our application.


Those would be customer growth is a similar feature.  The I-X scenario in K1.3 provided an additional amount of escalation dollars, which we have seen in line 13, of $108 million.


So those increases in revenues aren't directly comparable to a forecast of cost drivers that you're seeing in CME 14.  It obviously leaves a residual that is unrecovered, so I will be providing a response in that undertaking to show all of the variations of deficiencies, et cetera, that are occurring.


MR. THOMPSON:  Okay.  But if you were like Union and held the ROE at its current rate over the duration of the plan of 8.93 percent, am I right the 333 million would reduce by 130 million?


MR. CULBERT:  If we kept our ROE at 8.93, our deficiency would be lower by $130 million, yes.


MR. THOMPSON:  In the first plan, things were locked in.  Cost of capital were locked in, and cost of debt went down big time and you folks gained; right?


MR. CULBERT:  The reductions in interest expense were helpful to offset the increases in depreciation expense and other elements, yes.


MR. THOMPSON:  And so in the next plan, why shouldn't it be the same and so shareholders gain -- sorry, ratepayers gain; they don't get hit with this 130 million?


MR. CULBERT:  Well, again, we are doing a forecast for all of our costs, inclusive of cost of capital.


We have also included a forecast of the other elements of cost of debt, and there was an interrogatory response which showed the implication of keeping the entire cost of capital at the Board approved for 2013; and, if that were the case, our deficiencies would not decline by 130 million, because our cost of capital would be maintained at a higher level.


So the deficiencies would actually decrease by somewhere in the neighbourhood of $68 million.


MR. THOMPSON:  I think what you're saying is that locking in the rate base return, including cost of debt -- sorry, yes.


Your overall rate of return, including the cost of debt, would produce an advantage for you in this next five years, but not to the extent it did in the first plan.


MR. CULBERT:  That's correct.  Just from the average cost of the debt rates themselves, our total interest expense amount would not decline going forward.  It is just relative to what is included in base rates, yes, there would be an advantage on the other side of the equation versus the $130 million of increased deficiency that is coming about from forecast ROEs.


However, as we have said, we have forecast all of those elements, along with all of our other costs, and we're taking the risk that all of those things may or may not be greater than the forecast that we have put in.


MR. THOMPSON:  Okay, I understand.  I will get to the debt cost ceiling when the cost of capital panel comes forward.


But in terms of other items that might be contributing to this spread, if you look at I.B17.EGDI.CME.14, we asked you to -- what impact would it have on revenues if the revenue forecast -- if revenues in years beyond 2013 were set at the -- on the basis of the volumes, I believe it was for 2013.  Have I got the right one?  No, it is not 14.


Excuse me, CME 11.  Excuse me.  Do you see that?  So if I look at this, it is telling me that to the extent your volumes in '15, '16 and beyond meet or exceed what you experienced in --


MR. LISTER:  Sorry, we don't have it yet.


MR. THOMPSON:  Oh, I'm sorry.  I thought it was up there.  Okay.


MR. CULBERT:  We have it.

MR. THOMPSON:  Okay.  So what this is telling me is if your volumes equal 2013 levels in '14, '15 and '16, revenues would be higher in those three years by 34 million, maybe close to $35 million, right?

MR. CULBERT:  Cumulative for the three years, yes, it looks like about 33- to $34 million, yes.


MR. THOMPSON:  What you are doing for '17 and '18 is, as I understand it, you are just assuming the 2016 scenario; is that right?


[Witness panel confers]


MR. LISTER:  I don't think that is entirely accurate.  Sorry.  Our proposal is that we would complete a volume re-forecast every year.


It may -- we have put in placeholder numbers at this point in time, but the idea would be that we would update annually for volumes.


MR. THOMPSON:  But not for dollars?  You are not going to add --


MR. LISTER:  Correct.  There would be no change to the allowed revenue amount, other than the pass-throughs like DSM and CIS and...


MR. THOMPSON:  So to the extent that you have low-balled volumes in 2014, '15, '16, '17 and '18, that is a contributor to the spread?


MR. CULBERT:  Perhaps I can try my -- what we will be doing every year we propose, we will be updating volumes and we will be updating our forecast of revenues associated with that volumetric update.

MR. THOMPSON:  So we are going to get the benefit of this, you're saying?


MR. CULBERT:  If the revenue at existing rates forecast changes as a result of updating of the degree day methodology and findings in that, we will re-forecast our revenues.  That is our proposal, along with gas costs.

MR. THOMPSON:  Okay.  Thanks.


As I say, there is the debt -- well, let me just draw your attention to that, because it was that exhibit that I put up; I think it was CME 14.  Want to just put that up one more time?


And I will follow it up with the next panel.  What we were talking about, Mr. Culbert, if you go to page 2 of this document, is at line 8 -- correct me if I'm wrong, but what this is showing is, at least on the basis of -- well, what I understand this is showing, it is -- it is not a deficiency, it is a sufficiency, and it is cumulative $32 million.


And I am interpreting that to be the savings that you will be achieving as a result of rolling over debt at lower interest rates during this five-year period.

MR. CULBERT:  So the calculation for line 8 assumed the existing rate base for 2013 and what our weighted average cost of debt would become going forward.


So yes, the average, weighted average cost rate will be declining throughout the term.


So if you look at the next line, what you see there is the increases in cost of capital that come about as a result of rate base growth.


So while the cost rate itself is slowly ratcheting downwards from what it was in base rates, the absolute amount of interest is still increasing as a result of our rate base growth, et cetera.


MR. THOMPSON:  I understand that, but --


MR. CULBERT:  Those two lines need to be looked at in combination.


MR. THOMPSON:  But that line 8 has been based -- has it been based on taking all of your existing issues, identifying the ones that roll over, and forecasting what they're renewing at and measuring the savings?

MR. CULBERT:  No.  It is not looking at it in a delta fashion; it is locking at what your total weighted average cost of capital becomes.


So for example, if, in 2013, the weighted average cost of long- and medium-term debt was -- and I am just throwing an example out here -- 5 and a half percent, as a result of replacing some debt that is maturing with new debt going forward to meet the ratios of capital structure that we are proposing, that average cost might go down to 5.45 percent in one year, and it might go down to 5.43 in the next year.  So it's just taking the new weighted average cost.


MR. THOMPSON:  Understood.  And it is the delta I am after, so I will have to ask that later on.  Let me turn to my last topic, which is -- well, second-to-last topic, which is SEIM.


I would like you to turn up some pages you have been discussing with others.  First of all, it is A2, tab 11, schedule 3, at page 11.


This page, as I understand it, is determining the SEIM potential reward; have I got that right?

MR. LISTER:  Yes.

MR. THOMPSON:  Okay.  So the starting point is you need an ROE that -- on average, that exceeds the allowed, to qualify for SEIM?

MR. LISTER:  That's correct.


MR. THOMPSON:  Okay.  So if it is -- your example here is 10.5, which is 50 basis points over your allowed.

Let's take the 100 basis points over the allowed, which is the dead band.  So that would be 11 versus 10, right?  In this example?

MR. LISTER:  I'm sorry, so you would like us to posit that we earned 11 instead of 10 and a half?

MR. THOMPSON:  I would like you to posit you've earned 100 basis points over your allowed, which isn't too tough to get your head around because you did it every year for five years.


MR. LISTER:  Okay.  So we will assume we earned 11 relative to an allowed of 10 in this example.


MR. THOMPSON:  So that is 100 basis points difference, which we know is 20 million, right?


This is what I asked at the beginning:  Is 100 basis points 20 million?

MR. CULBERT:  Based on an average of our equity positions, yes.


MR. THOMPSON:  Okay.  So the reward potential is $10 million, right?  On that example?  Which is not unrealistic, because you have done more than 100 basis points under your other regime.

MR. LISTER:  It would be 5 million, by my calculation.  20 times 0.5 is 10, times 0.5 is 5.

MR. THOMPSON:  So get a quarter of the spread; is that... I misunderstood this, but...


MR. LISTER:  The formula is right there.  In this example -- I will use yours.  100 basis points would be 1 percent, times 50 percent is 0.5, times...


MR. THOMPSON:  Okay.  So it's 25 percent, so 5 million.  That's fine.  That is what I wanted to get first of all.


And then in your discussion with Staff yesterday, you were talking about the next step in the calculation.  Let me just back up.


You told Staff that -- counsel for Staff that this SEIM business only operates incrementally to everything that is embedded, currently embedded in your O&M and other plans.  And you're going to do a list of what that is in dollar amounts, as I understand; is that right?

MR. LISTER:  Yes, I think that is fairly accurate.


The point that we were drawing is that there is nothing in particular that we have earmarked for this.  So it would have to be incremental.

MR. THOMPSON:  We asked you that question:  Have you got any SEIM initiatives in mind?  And it wasn't answered, but I hear you saying you don't have any in mind yet.  This is still in the idea box, is it?

MR. LISTER:  We don't have any in mind.


MR. THOMPSON:  Okay.  Then I just want to understand how it works.  So let's go to Staff's tab 12.  It had this net PV chart on page -- I guess it is, yeah, 5, at tab 12.


So we know the award potential is 5 million, based on this hypothetical calculation.

And you have come up with a SEIM initiative which is going to involve the expenditure -- let's take KC -- of three dollars in 2018, which is going to produce, on a forecast basis, four dollars of savings over the next four years for a total benefit of one.  That is total NPV in the right-hand corner.  Am I interpreting that correctly?


MR. FISCHER:  Yes, Mr. Thompson.  So our undertaking J.1...


MS. SEBALJ:  Point 8.


MS. CONBOY:  1.8.


MR. FISCHER:  Yes, J1.8, thank you, explained in a little bit more detail in terms of how the NPV calculation is done.  So all of the values on this table are actually millions of dollars, Mr. Thompson.


And so each of the values for each of the illustrated initiatives, A through D, for each of the years 2014 through '23 are present value values, and they're present value in terms of 2019 dollars.


And so to do the -- to calculate the NPV is simply to sum each of the years of -- in some cases they're negative in initial years, because there is initial cost or cash outlay.  Then following that, there are benefits in each of the years.


So just summing across will give you the NPV of each initiative, and then the total of each of the initiatives, all four of them, is in our illustration here, $5 million.  And that is what is compared to the award amount.


MR. THOMPSON:  Okay.  Well, I am doing it simply, and I take your point they're NPVs and all the rest, but I see four numbers of one each that are positive and a three in brackets, and that's the difference of one.  So that is the benefit; right?  The three is spent, we know, and the four is forecasted and the benefit is forecasted?


MR. FISCHER:  Yes.


MR. THOMPSON:  Okay.  Can we just stop there, accepting they're millions of dollars, and the potential benefit is 5 million.


Do you get the 5 million because you have saved a million, or do you have to get up to 5 million before you get anything under SEIM?


MR. LISTER:  In the example that you have been drawing for us where you took us to a reward potential of 5 million, I assume what you're doing is you're asking us, if this was the particular situation, would we qualify?


MR. THOMPSON:  Yes.


MR. LISTER:  The answer would be as long as it was 5 million dollars and one cent and we could justify it reasonably, and, in addition, we could show that there was no degradation in our SQR performance and no degradation in our performance -- metrics performance, then our position would be we would qualify.


MR. THOMPSON:  So you would get $5 million because you are one cent over 5 million; is that the way it works?


MR. LISTER:  That we have generated greater benefits for the ratepayer than for -- than the reward that we are seeking.


MR. THOMPSON:  So 5 million and one cent gets you 5 million?


MR. CULBERT:  The threshold is $5 million.  It doesn't ascertain how much you are over the 5 million.  That is the threshold.


MR. THOMPSON:  Because we have to pay that through ROE, we have to gross it up for taxes; right?  So it is not 5 million.  It is something more than five for ratepayers?


MR. LISTER:  Mr. Culbert corrected me on that.  It would depend exactly on how the efficiency was generated and what the source of the benefit was, for example, whether it was O&M or some sort of capital-related reduction.


MR. CULBERT:  As Mr. Shepherd questioned yesterday, he mentioned that if -- Mr. Culbert, if it is all O&M, you don't have to gross it up, because you don't pay tax on O&M, which I agreed with.  So we would have to go through the analysis to see what it was, what the project was that drove out these types of benefits and determine what the gross payout is.


MR. LISTER:  I would also just highlight that if the net benefits were seen to be $30 million, we would still only get five.  So it's a cap.


MR. THOMPSON:  Okay.  But the five is translated into a bump-up in the ROE in 2019 and 2020?


MR. LISTER:  No, not exactly.


MR. THOMPSON:  It's not?


MR. LISTER:  Just taking you back to where you had us start at A2-11-3, what we would do is calculate a dollar value and assign that to each of the two years for 2019 and 2020.


MR. THOMPSON:  So it is not a bump-up to ROE in 2019 and '20?


MR. LISTER:  Well, the way it is applied in this example is we have turned it into a dollar amount.  We haven't applied it as a bump-up to ROE, say, for that year and the next year.


We have determined what the dollar amount is, and then assigned it for two years.


MR. THOMPSON:  But I understood your proposal is to translate the 5 million into a bump-up on ROE and so it gets applied to 2019 rate base and 2020 rate base, which could be considerably larger.


Is that the proposal, or am I misunderstanding this?


MR. LISTER:  No, I think what -- I don't think.  I know.  Our proposal is that if we qualify for the $5 million, we came to that -- how we got to 5 million was the reward potential.


So that if we qualified for the 5 million, we would include that as a dollar amount.


MR. FISCHER:  Yes.  It would be a revenue premium in each of 2019 and 2020, so it would be --


MR. THOMPSON:  A dollar amount recovery as opposed to an ROE bump-up?


MR. FISCHER:  It would be a revenue premium during those years.


MR. THOMPSON:  Okay.  Now, just in terms of the 3 million in 2018, I assume that is an O&M initiative.  Am I right that that will depress earnings in that year?


MR. LISTER:  For 2018?  Well, yes, for every year except 2015, there would be earnings depression in this simple example.


MR. THOMPSON:  I am looking at C, which just has one payment in one year.


MR. LISTER:  Yes.


MR. THOMPSON:  So that in 2018, ratepayers lose their share of 3 million of earnings, because you have embarked upon this initiative; right?


MR. LISTER:  It would serve to hold earnings down otherwise.  I mean, the alternative would be to not make an investment in long-term efficiencies, which I think we would all agree is not the intent of incentive regulation and regulation in the first place.


MR. THOMPSON:  I am just trying to get impacts on ratepayers.


So you shell out the three and we lose one-and-a-half; right?


MR. LISTER:  Assuming we were in an earnings sharing position and --


MR. THOMPSON:  We are, because we're 100 basis points over the allowed.


MR. LISTER:  Going back to our example, okay, yes.


MR. THOMPSON:  Okay.  And so we lose that.


Then you guys do your forecasts.  You're not going to track this.  And you tell us there's a savings, and if it is over -- total up over 5 million and one cent, we owe you another five.  That is how it works?


MR. LISTER:  You have given a very specific example that would get us -- as I said a few times now, that would get us to the point now of determining whether our SQR has performance has degraded, and in performance benchmarking, but generally the framework that you have described is accurate.


MR. THOMPSON:  Okay.  Let me just wrap this up by saying this incentive, this particular incentive, has got nothing to do with years -- it is not an incentive proposal for any of the five years we're talking about.


It is an incentive you are going to recover in the period beyond 2018; is that fair?


MR. FISCHER:  Mr. Thompson, it is clearly an incentive for Enbridge to find long-term sustainable efficiencies during the IR term.  So these are initiatives that need to generate benefits well in excess of the costs of implementing them that survive beyond the end of the IR term.


MR. LISTER:  You are correct, however.  The way we have positioned it, it would be a one-time reward that would occur in 2019 and 2020.


MR. THOMPSON:  Well, are you not obliged as a utility to do this kind of thing in the five years, without having the table set for the next two years for another handout?


MR. LISTER:  I think certainly that is the kind of activity we undertake day to day, and we have talked quite a bit about that, in terms of committing to forecasts, our productivity benefits, before we actually know what the outcomes are in terms of decoupling our revenues from our costs.  There are a number of ways in which we think we're incented to do that.


Our point with the SEIM is that the Board's objective is to generate long-term sustainable benefits.  There are two -- things going on that may run counter to that.


Number one, a common criticism of IR is that there may be this incentive to cost-cut, or for short-term deferment.


Well, this would help alleviate or at least provide some insight into that.


And criticism number two is that in an IR plan, a utility may choose to not invest in productivity in the later years.


MR. THOMPSON:  So you go to an incentive plan for five years, and you say -- and you take those incentives, and you say:  But that is giving us incentives to do bad things, so we have to get another incentive outside the IRM plan to keep us from doing bad things.


Is that essentially it?  It is "piling on," in football terms, folks.


MR. RYCKMAN:  No, I think the issue, and it is recognized, that as you have less runway to create benefits out of this, these things can move lower down the priority list of all the things that you have to do.


So once again, it's trying to create an environment where there's an incentive to pursue these types of initiatives, which could have a negative financial impact in the latter years of an IR term.  It is trying to overcome that barrier.


MR. THOMPSON:  Let me move on to my last topic.


MS. CONBOY:  Sorry, I would like to interrupt there before we leave this slide, just to make sure that I understand this.


To take Mr. Thompson's example of row C, if I understand correctly, the "–3" means that Enbridge has had a cost outlay in 2018 of $3 million?  Or it could mean Enbridge has a cost outlay in 2018, 2019, 2020, but you have brought it all into a net present value to 2018 of $3 million; is that correct?

MR. FISCHER:  That's correct, Madam Chair.

So in any individual year, these are net -- they are meant to represent net values, so to the extent that there is a cost and a benefit, they would net out to the numbers illustrated.


MS. CONBOY:  So when you move into 2019, however, you're making sure that you are excluding any of the 2019, 2020 going-forward factors that you've brought into your net present value of your 2018?

MR. FISCHER:  Yes.

MS. CONBOY:  Okay.  And then as we go on, so what this essentially means is I am going to outlay some amount in 2018 and I am going to get cumulative benefits in 2019, and in 2020 I am going to get even more benefits, 2021 even more benefits.  So you are not -- as you are pulling all your numbers forward into that particular year -- admittedly in real numbers, in 2019 real numbers -- there is no double-counting in that?  In this example?

MR. FISCHER:  Yes, that's correct.


MS. CONBOY:  Thank you.


Go ahead, Mr. Thompson.  Thank you.

MR. THOMPSON:  Thank you.

This goes to this Z factor debate that you have been having with Mr. Mondrow.  And you want this Z factor to be so relaxed, as I interpret what you are saying, is that it will cover any material variances in your expenditures from what you anticipated.

Am I missing the point here?

MR. RYCKMAN:  I don't necessarily agree with the characterization, but again, there are things that could be unforeseen or outside of management control.  And to the extent that they're material, we are proposing there's a vehicle to deal with that.

MR. THOMPSON:  And so tell me what are the business risks that the equity return recovers, if the Z factor covers these kinds of things.  You guys want it coming and going.


[Witness panel confers]


MR. LISTER:  Well, we haven't looked specifically at equity risk.  It wouldn't -- equity...


MR. THOMPSON:  Business risk, business risk.


MR. LISTER:  Right.  We haven't looked at it in terms of what the implications are for business risk and how it relates to equity thickness per se, but I think as Mr. -- I believe Mr. Ryckman earlier today or yesterday commented, the company has taken, through the budget, the capital budget process, documented at a very detailed level where it sees risk exposure on a whole variety of very detailed elements.


Our position is that we would not qualify for Z factors on those, so far as they are not out of the realm of unexpected.


So that is where we were a little bit troubled by the proposition that we might be seeking to change the risk profile.  That is not how we're viewing it at all.


But in terms of your question, we haven't looked at it specifically within the scope of business risk as it relates to the equity thickness.

MR. THOMPSON:  No, no.  Business risk as it relates to the utility business.

MR. LISTER:  I thought your question was posed in terms of how it relates --


MR. THOMPSON:  You get an equity return to compensate you for business risk.  Then you turn around and you want Z factor coverage for what sounds to me like business risk.  That is double coverage.

And you tell me you haven't looked at it in the context of business risk.

[Witness panel confers]

MR. FISCHER:  So, Mr. Thompson, business risk is incorporated in the establishment of an appropriate capital structure and appropriate equity ratio, and this was the activity that we engaged in a year and a half ago in an attempt to increase the equity ratio from the current 36 percent to higher.


So business risk comes into play there, rather than the ROE, since the ROE is actually determined through a Board-approved formula.

MR. THOMPSON:  Okay.  I misspoke.  Anyway, Mr. Janigan has covered this.  Thank you very much.


MS. CONBOY:  Thank you, Mr. Thompson.  Mr. Cass --
Questions by the Board:


MS. CHAPLIN:  I have a couple of questions.


You are familiar with the Board's RRFE Report; is that correct?


MR. FISCHER:  Yes, we are.

MS. CHAPLIN:  Okay.  And was it filed in this proceeding at all, do you know, by anybody?


I am looking at Ms. Sebalj.


Would it be possible to find that on -- and put up page -- I am interested in the witnesses' responses to the table on page 13 of that report.

MS. SEBALJ:  I think that --


MS. CHAPLIN:  Can that be accessed reasonably easily?


MS. SEBALJ:  -- the magical Bonnie will pull that up.  I do have a hard copy, if anyone on the panel needs it.

MS. CHAPLIN:  While she is doing that, maybe I will just follow up on the Z factor.


I think I am left a little bit confused as to where the company sees the outcome.  So is it your intent that the redefinition of the Z factor would ensure or provide greater assurance that the company could receive recovery for costs which it thinks, in any event, should have been covered under the original definition?

So in other words, are you seeking kind of greater certainty for an interpretation that you felt should have been applied but maybe wasn't being applied?

MR. RYCKMAN:  I think with the original Z factor language, the main problem we had was that there doesn't appear to be anything that would qualify, which basically means that there is no Z factor.


And presuming that Z factors are a relevant feature of an IR plan, then there should be some enhancements made to the language.


So it is not necessarily looking to increase the number of Z factors that would come before the Board, but, once again, if we don't have language that allows for a Z factor to be properly considered, to come before the Board and be properly considered, you effectively don't have a Z factor framework or a Z factor parameter within the plan.


MS. CHAPLIN:  And are you familiar with instances where the Board has approved a Z factor for either gas or electricity?


MR. RYCKMAN:  I have minimum knowledge of it.  I know there have been, I think, a couple.  There was one on the gas side and one on the electric, I believe.  I am not that familiar with the...


MS. CHAPLIN:  And you speak of it as being a component of the Board's overall plan.  So is it your sense that it should be something -- like, how unusual, or do you think it should be?


MR. RYCKMAN:  Well, I see them as extraordinary events.  I used examples of a manufacturing defect in a pipe, in a material that's been installed.


I provided examples of changes in regulation.  So there's no question that it would be an extraordinary event, and it is not meant to cover items that are already currently addressed or embedded within the base rates.


I also don't see it as covering the things that we have identified in terms of the variable cost.  Again, we have said we will live with that risk.


But over and above that, again, if there are extraordinary events, then I believe there should be a vehicle by which we can come forward and seek relief, and the Board can determine whether that is appropriate or not.


MS. CHAPLIN:  Okay, thank you.  I thank you for finding the Board's reports.


So what you see on the screen is the table that appeared at page 13.  It is a summary or an overview of elements.


I would like to just have you go through, if we could -- I would just like you to respond maybe briefly to each of them.


So the "going in" rates, so the company's position is that the going in rates have been, in a sense, determined already through 2013?


MR. FISCHER:  That's correct.


MS. CHAPLIN:  That's correct.  Okay, thank you.  And then under -- so then under the next block I would like you to respond to, it is talking about the annual adjustment mechanism and inflation and productivity.


So it is re the distributor-specific rate trend for the plan term to be determined by the Board and formed by, one, the distributor's forecasts, revenue costs, inflation, productivity.


So you believe you have met that.  You provided that information; is that correct?


MR. FISCHER:  Yes, correct.


MS. CHAPLIN:  The Board's inflation and productivity analyses.  So how do you feel that that factor has any bearing on how you think the Board should examine your proposal, Enbridge's proposal?


MR. FISCHER:  I don't think we're aware of the existence of that analysis, so it wasn't something that we considered in informing ourselves in terms of how to implement a custom IR like implementation of an IR plan.


MS. CHAPLIN:  Okay.  The third element is benchmarking to assess the reasonableness of the distributor's forecasts.  So can you point to -- do you believe that your evidence responds to that factor?


MR. FISCHER:  Yes.


MS. CHAPLIN:  You have also, I think, in a number of instances, suggested that there might be more specific questions for future panels related to those forecasts and benchmarking; correct?


MR. FISCHER:  Yes.  The O&M panel and the capital panel, yes.


MS. CHAPLIN:  All right.  Under the next one is the productivity factor, and under sharing of benefits -- sorry, the general category is sharing of benefits, and one of the components is productivity factor.


So how does your plan reflect the productivity?


MR. FISCHER:  So we considered that reference there, that productivity needs to be incorporated or embedded in the cost projections, and so we believe we have done that for both O&M and for capital.


MS. CHAPLIN:  Okay.  And then under -- well, for some of the other ones, it has stretch factor and says case by case.  Would this also incorporate -- would your view be that your earnings sharing mechanism and your SEIM mechanism are also intended to address the concept of sharing of benefits?


MR. FISCHER:  Yes, very much so.


MS. CHAPLIN:  Okay.  So treatment of unforeseen events, in the Board's Renewed Regulatory Framework, the Board concluded that the existing Z factor would continue, and I think we have already discussed you are proposing a change to the Z factor in your plan?


MR. FISCHER:  Yes.


MS. CHAPLIN:  Then under deferral and variance accounts, the comment here is:  Status quo plus as needed to track capital spending against plan.


So my understanding is that in Enbridge's plan, that is the account for the GTA project and the accounts for the relocation and replacement.  Are there any other capital tracking accounts that are part of your overall plan?


MR. CULBERT:  No.  Those are the three that we're proposing would be used.


MS. CHAPLIN:  Okay.  Then the final item is the plus or minus 300 basis points triggering a review.  Is that also part of your...


MR. FISCHER:  Yes, it is, and it is the same as that 300 plus or minus basis points.


MS. CHAPLIN:  Okay, thank you.  Those are my questions.


MS. CONBOY:  Mr. Cass, have you got any re-direct for the panel?


MR. CASS:  Madam Chair, I had no re-examination at all until this afternoon, and at the risk -- at the end of a long week or relatively long week delving into these areas, there were a few things I felt were not very clear or not as clear as they might be.  So I am just going to try a few questions here, if you don't mind, in re-examination relating to some of the areas that were touched on towards the very end of the cross-examination.


MS. CONBOY:  Please go ahead.

Re-Examination by Mr. Cass:

MR. CASS:  So, Mr. Culbert, there was some discussion with Mr. Thompson about the way interest savings were treated under the first generation plan.


So can you put that into context, under the proposed plan, what happens with interest on debt?


MR. CULBERT:  Yes, under the proposed plan, whatever our interest costs are would be treated in the same fashion as during the first gen IR.  Whatever our interest costs are would become part of the overall determination of earnings in our earnings sharing mechanism.


So to the extent that there is a difference in terms of our projection of cost rates, those would be resident in our actuals and would contribute to the possibility of overearnings or not piercing the earnings threshold, but they would be part of the overall picture of earnings.


MR. CASS:  What about in relation to what you have done by way of forecasting interest on debt?


MR. CULBERT:  Well, during the first gen IR, as we have discussed on many occasions, we were using a different approach.  We were escalating a revenue stream that had a certain level of cost debts embedded in them.  In this plan, we're utilizing current day forecasts, economic conditions, to forecast our debt cost rates we believe will occur over the five-year term, and we're proposing that we will live with those in terms of rate-making -- for rate-making purposes.


So to the extent our cost rates are higher or lower, we're not looking to adjust our requests for allowed revenues going forward.


MR. CASS:  Okay.  Then there was a discussion about the $130 million number that we have heard in relation to cost of capital.  Then you, during Mr. Thompson's questions, mentioned another number of $68 million.


I don't want to lead you, but I just felt that left some confusion, and I wonder if you could just walk through what you meant by those two numbers.


MR. CULBERT:  Yes.  Actually, if we can pull up interrogatory A9, SEC 43, if that is possible, what I was referring to is, on a pure view of looking at just the differences in return on equity that we have been discussing, i.e., versus the 893 embedded in base rates, if our calculations of allowed revenue were to revert to use that ROE, my deficiency would decline by 130.


What I was referring to is if you were to keep the entire weighted cost of capital at 2013 Board-approved levels, as you see in this interrogatory response, so up in line 2, the required rate of return, that is the overall required rate of return inclusive of debt costs.


If we were to keep all of the cost rates at that level, as you can see down in line 27, the gross revenue deficiencies would change to the numbers you see on that page.


Now, when you compare those numbers to the $499 million total deficiency that comes about in our application, these numbers would produce a $421 million deficiency.


So that is the difference between the ROE -- if you just used ROE at base rates, the deficiency would go down by $130 million.  If you used the entire cost of capital, the deficiency would only go down by 499 versus 421, so that is the $78 million I was referring to.

MR. CASS:  Okay.  Then a final question for anyone on the panel.


Why does Enbridge say that its proposed treatment of the cost of capital under the customized IR model is appropriate?


MR. LISTER:  It is our view that the cost of capital as recognized in the fair-return standard is a legitimate utility cost.


Since we are forecasting the utility's costs, a cost that has to be considered is the cost of capital.


And that is our -- why we have chosen to forecast the cost of capital as we have, and that evidence is found at Exhibit A2, tab 5, schedule 1.

MR. FISCHER:  If I could just add to Mr. Lister's comments, so cost of capital is a cost like all other costs that a utility must bear.  And in terms of the customized IR approach, which is -- has strong analogies to the custom IR method available to electric utilities, you know, it needs to be included as a forecast cost element, to be consistent with that approach.


So that is why it is important that those costs be included in a determination of the revenue cap on a go-forward basis.

MR. MONDROW:  I'm sorry to jump in and interrupt, Madam Chair, but I should probably do that while Mr. Cass still has the microphone.


I may be misunderstanding the questions and answers, but I thought the evidence before was very clear in response to that question, which is the reason that we forecast that rather than passing it through is we didn't want to add another variable.


So perhaps Mr. Cass can invite his witnesses to clarify whether they're now changing their evidence on this.  I think this question was asked and answered.


MR. CASS:  I don't think so, Madam Chair.  The question that was asked was about the difference between the company's proposal to forecast the cost of capital, and an approach under which the return would vary from year to year based on the Board-approved return on equity.


That was the question, in relation to which the answer was, as I recall, the company wouldn't actually have an objection to the return being determined on a year-by-year basis in accordance with the Board's determination of return, but that would add an extra annual adjustment.


That was the question in that context.  That was not my question.

MS. CONBOY:  Thank you.


MR. CASS:  And that completes my re-examination.  Thank you, Madam Chair.

MS. CONBOY:  Thank you.


Ms. Chaplin, you have another question?

Questions by the Board:


MS. CHAPLIN:  Sorry, there was one other area that I neglected to cover, and that is you have described how the high level of capital expenditures is one of the key drivers for your overall proposal.


And there is a chart that -- I don't remember which reference it is in, but it shows -- it is a bar chart and it shows the progression of capital expenditures over time, and it shows the growth in the integrity area.  And there were a number of questions about that today.


But am I correct that the major elements are the GTA project and the Ottawa reinforcement, in terms of absolute dollars?

MR. CULBERT:  Those are two of our more significant capital projects that are influencing our capital spend, but system integrity, as you heard Mr. Thompson and I discuss, we have certainly seen an increase in the system integrity spend absent those two projects over the time period.


If you look over the 20-year period, you certainly do see an increase in capital spend in that area.  Our distribution system is growing.  Our customer levels are growing constantly.  We're adding 35,000 customers a year.


So it does have an influence on our system integrity spend as you move forward over a number of years and decades.


MS. CHAPLIN:  So I am curious what -- as we all know, the GTA project and the Ottawa reinforcement project were the subject of leave-to-construct applications and have received leave to construct.


MR. CULBERT:  Correct.


MS. CHAPLIN:  Does that have any significance, in terms of assessing whether or not the type of plan that Enbridge is proposing is necessary?


And I guess I would contrast that to a situation where there might be a five-year plan of significant expenditures, which also had additional uncertainty regarding leave-to-construct proceedings.

MR. LISTER:  Yes.  That was certainly a fundamental part of our analysis, at A2-1-3, I believe.


And we examined several different ways of creating, say, Y factors for those large, one-off projects, like the GTA, Ottawa and WAMS.


And the point there, the conclusion that we draw in that piece of -- series of analyses is that I-X, in any of the scenarios, fails to produce a revenue stream that would allow us to undertake the full gamut of system integrity and all of the other things that are talked about in the capital and O&M spending -- budget series of exhibits.

So we certainly looked at Y factoring things like GTA, Ottawa and WAMS.

MS. CHAPLIN:  Okay.  Maybe another way of me asking the -- coming at the question is:  If the Ottawa project and the GTA project were just not -- didn't exist, would the company still be making an application for the form of rate-setting that they are?  That you are?

MR. CULBERT:  I know I am not supposed to be asking questions here, but can I seek clarification?


Are you asking whether now having been approved, the GTA and Ottawa projects, whether we would adjust our forecast for system integrity spend as a result of that?

MS. CHAPLIN:  No, no, not -- I am saying in the scenario where you were not doing the GTA project, like it just didn't exist, and the Ottawa project -- so in other words that purple -- the purple block wasn't there --


MR. CULBERT:  Yes?


MS. CHAPLIN:  -- and you had the trajectory, would you still be -- would you still be applying for the form of rate-setting that you currently are?

MR. FISCHER:  Yes, Board Member Chaplin.  Yes, we would.  The analysis I think that Mr. Lister was referencing earlier where we look at Y factoring both GTA and Ottawa, there still is a deficiency in terms of a gap between earned ROE and allowed ROE.  So even under that circumstance, that gap needed to be addressed outside of an I-X framework.


So we would have come forward with this customized IR proposal in that case as well.


MS. CHAPLIN:  Okay.


MR. CULBERT:  Can I add to that response?


During the GTA LTC, I know there were some questions asked around what the company would do absent the approval of those projects.  And I think there were some answers given in terms of what we would have to do in terms of reinforcement changes, et cetera.


So those aren't built into the forecast -- as you see now, obviously -- because we were seeking approval of the GTA.


So perhaps Mr. Sanders and his panel could address whether or not this projected capital spend for the other areas would have changed.  I know that is not the question you are asking necessarily, but --


MS. CHAPLIN:  No, no.  I wasn't -- I wasn't asking you to think of the hypothetical of the project being declined.  I was just trying to say if they were just extracted from the thinking and the planning and --


MR. CULBERT:  Yes.


MS. CHAPLIN:  So that's fine.  Thanks very much.

MR. ELSAYED:  Just maybe a follow-up on the -- on that question on the same chart.


Looking at the red portion of the bars and the increases that you see over that period, what process do you use to prioritize your capital expenditures?


And I guess, from that, is there an opportunity in that process to make that change more even than what you show here, in terms of the significant increase over that period?

MR. LISTER:  That is a very relevant question for the capital panel.  In fact, that was a key part of the budget-setting process, and they will describe for you that process that essentially began with numbers that were far less smooth than this.  I think that will be a real thesis to their story.


So they can describe for you the process that they went through, and prioritization was a big part of that process.  And essentially what that resulted in was a reduction in the amount and a levelling of the capital spend profile.


So for sure that panel could help.


MR. ELSAYED:  Thank you.

MS. CONBOY:  Thank you.  Thank you very much.  The panel is excused, with the Board's thanks.


We will break for -- until 4:00 o'clock.  I would like to -- I know it is Friday and people probably went to get going, but I would like to get the questions of Mr. Coyne out of the way this afternoon.


So if we could come back at 4:00 o'clock, I am assuming that Mr. Shepherd is on notice that he may be asked to come back this afternoon.  And then we will empanel the experts and have -– well, actually we just need to empanel Mr. Coyne, I think, and then ask those questions, and then we can break for the weekend.


So we will see you back at 4:00 o'clock.
--- Recess taken at 3:40 p.m.
--- On resuming at 4:04 p.m.


MS. CONBOY:  So we will begin with -- there was some questioning of Mr. Coyne with respect to the scope of work he was retained to undertake for Enbridge.  So we will have Dr. Elsayed swear Mr. Coyne in, and then we do have a hard stop at 4:30.  Mr. Shepherd, is that going to be a problem for you?


MR. SHEPHERD:  I actually expected to be on an hour ago.  I did have about an hour of stuff, which I should tell you part of my original estimate of 220 minutes included this, so it is not extra.  But I will -- I will aim for 4:30.  I will do my best.


MS. CONBOY:  I have you down for 200 minutes on the estimates that I have got on the spreadsheet.


MR. SHEPHERD:  I thought I changed those, but that included this.


MS. CONBOY:  I am struggling a little bit as to why you need an hour for what we would see as a narrowly-scoped issue.


I will propose this.  We will go until 4:30.  Ask your questions until 4:30.  When we come back on Monday, the Board will have had the opportunity to assess the questions in terms of how much time we will give you on Monday if you need to continue.


MR. SHEPHERD:  I don't think you will feel I am wasting your time, Madam Chair.  I hope not.


MS. CONBOY:  I hope not, too.  Thank you very much.


So if we can have Mr. Coyne sworn in, please.
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MS. CONBOY:  Thank you very much, Mr. Shepherd.

Cross-Examination by Mr. Shepherd:

MR. SHEPHERD:  Thank you, Madam Chair.  Mr. Coyne -- oh, Madam Chair, before I start, I have provided two pieces of information for the assistance of the parties and the Board.  One is an excerpt from the second day of the technical conference, pages 38 to 56.  I don't think these have been marked yet.


MS. CONBOY:  Thank you.  If we could mark those, please.  You might just have to turn up your volume a bit, Mr. Shepherd.  I am having a hard time.


MR. SHEPHERD:  This is my soft-spoken manner.


MS. CONBOY:  It is first time I have heard that soft-spoken voice.


MS. SEBALJ:  The excerpt from the transcript we will mark as K2.2.

EXHIBIT NO. K2.2:  EXCERPT FROM TRANSCRIPT OF DAY 2, TECHNICAL CONFERENCE, PAGES 38 TO 56.


MR. SHEPHERD:  Then the other one is CCC Interrogatory No. 1 and attachments.


MS. CONBOY:  Thank you.  K2.3.


MS. SEBALJ:  But this is already an exhibit, is it not?  Do you want it marked as...


MS. CONBOY:  Plus the attachments, okay.  Okay.  So we won't mark that one.


MR. SHEPHERD:  Thank you.


MS. CONBOY:  Thank you.


MR. SHEPHERD:  So, Mr. Coyne, you originally had a contract with Enbridge for $395,000; right?


MR. COYNE:  That was for the work that was scoped through the initial period of time from January 2011 through October 2011.


MR. SHEPHERD:  So can you turn up the CCC Interrogatory No. 1 and go to, I think it is attachment 1, page 2.  You will see the original work you were planning to do was for a hearing late 2011, early 2012; right?  See that under number 5 there?


MR. COYNE:  I do see that, yes.


MR. SHEPHERD:  And --


MR. COYNE:  That was in the RFP.  Our proposal was scoped through the end of October to prepare that evidence.


MR. SHEPHERD:  Okay.  Sorry, your proposal was through the end of October 2011?


MR. COYNE:  It began... Well, let me just double-check.  I have it right there.


MR. SHEPHERD:  See, I thought it was -- your proposal, on page 6 of your proposal, says interrogatories, et cetera, case support 2012.


MR. COYNE:  Draft evidence was projected to be delivered in October --


MR. SHEPHERD:  October 2011.


MR. COYNE:  October 2011 on page 17, showing up as page 19 of 21 in attachment 2.


So we were anticipating a kick-off that began in early January and anticipating a ten-month work effort culminating in that evidence in October.


MR. SHEPHERD:  Fine.  What you were retained to do -- that ended up being the EB-2011-0354 proceeding, right, the 2013 rate case?


MR. COYNE:  Well, it really bifurcated into that effort, as well as a -- as well as this effort over time, so not exclusively.  The effort that began there was used in several ways.


MR. SHEPHERD:  What you were retained to do was you were retained -- I am looking at the RFP now, on page 2 of the RFP.  You were retained to develop a methodology for and the production of a productivity recommendation, an X factor, for EGD's next IR plan.  That was the job; right?


MR. COYNE:  Well, that was part of the job.


MR. SHEPHERD:  Okay.


MR. COYNE:  That is deliverable number 1.  Is that what you're referring to?


MR. SHEPHERD:  Yes.


MR. COYNE:  Yes, that was part of it.


MR. SHEPHERD:  Okay.  And you were also retained to help them develop their strategy for advancing their positions; right?


MR. COYNE:  To develop -- well, to provide methodological analysis that would permit them and allow them to build a strategy for their IR plan, yes.


MR. SHEPHERD:  That is not what it says; right?


MR. COYNE:  You looking at the RFP or our proposal?


MR. SHEPHERD:  RFP.


MR. COYNE:  Well, I would distinguish between the RFP and how we responded to the RFP.  So our approach and scope are really defined in our proposal.  So whenever we get RFPs, we always end up interpreting them for (a) what we can do within the period of time, and what we think the client is asking for.  So there is an interpretive element of going from an RFP to a proposal.


So I would rely more on our proposal than I would on the RFP.


MR. SHEPHERD:  I will come to your proposal in just a second.


The original RFP was to provide evidence and testimony with respect to the productivity recommendation and potentially other IR parameters in a proceeding; right?  That is what you were asked to bid to, yes, on item 5 on page 2?


MR. COYNE:  Yes, you are reading item 5 as I do.


MR. SHEPHERD:  Now, what happened is that the IR plan was supposed to be in their 2013 proceeding, and then they decided to bifurcate it, as you said, so that the 2013 proceeding no longer had the I-X in it.  There was no productivity discussion in it;  right?


MR. COYNE:  Well, there was productivity discussion in it, because we provided a benchmarking analysis and we also provided a review of Enbridge's performance during its IR plan.  So a portion of that work was utilized there, and it pertained to productivity, but it didn't contain the full IR analysis that we had done that provided for this proceeding.


MR. SHEPHERD:  In fact, the IR plan wasn't considered in that proceeding?


MR. COYNE:  That's correct.


MR. SHEPHERD:  Okay.  So am I right that then once they moved the IR plan from the 2013 case, does that mean that this contract was no longer applicable, or was it -- did it still carry on, just now it related to the 2014 case?


MR. COYNE:  The contract was written such -- it recognized -- and I will direct you to the bottom of page 19 in our RFP.


MR. SHEPHERD:  Yes.


MR. COYNE:  And that is in attachment 2, if we could bring that up.  We're addressing the uncertainty in scope and the uncertainty in the process.


We say there in the bottom paragraph on that page --


MR. SHEPHERD:  This is page 19 of 21, page 17 of your materials; right?


MR. COYNE:  Yes, yes.  We say in the second sentence of that bottom paragraph:
"In fairness, we believe it is likely that the process will have some uncertainty and require responsiveness to Enbridge feedback, the regulatory and stakeholder process."


Well, indeed all of the above occurred and it became a very fluid process over the course of three years.


MR. SHEPHERD:  Now, you did provide evidence on behalf of Enbridge in the 0354 case with respect to equity thickness; right?


MR. COYNE:  We did.


MR. SHEPHERD:  Was that a separate contract?


MR. COYNE:  It was.


MR. SHEPHERD:  So that was $387,000 in the end, wasn't it?


MR. COYNE:  I don't recall that number.


MR. SHEPHERD:  Will you accept, subject to check -- I am reading from Undertaking J1.1 in that proceeding -- $386,808 was the total that you were paid for that?  Will you accept that --


MR. COYNE:  In a response from me in that undertaking?

MR. SHEPHERD:  That is from Mr. Lister.

MR. COYNE:  Okay.  Subject to check.

MR. SHEPHERD:  Thank you.

MR. COYNE:  Yes.

MR. SHEPHERD:  And so that is additional money you were paid.  When we're talking about the contract, this contract, and -- what are we here -- 2.1 or $2.2 million that you're going to be paid for this proceeding, that $387,000 was in addition, right?

MR. COYNE:  Totally separate scope of work.

MR. SHEPHERD:  Exactly.  Okay.

By the way, you selected a proxy group in that proceeding?

MR. COYNE:  I did, yes.

MR. SHEPHERD:  How does that relate to the proxy group in this case?

MR. COYNE:  Not directly.  That was a proxy group designed to measure, for financial purposes, like companies, not for operating purposes.

Here we drilled down further to the operating company level, which one typically doesn't do for cost of capital analysis.

MR. SHEPHERD:  Now, the -- you are still working, then, on this project that originally started with an RFP in 2010, right?

MR. COYNE:  Yes.

MR. SHEPHERD:  That's still the same project?

MR. COYNE:  Yes, it is.

MR. SHEPHERD:  But it has evolved?

MR. COYNE:  Yes, it has.

MR. SHEPHERD:  And the budgets, for example, have evolved in the sense that instead of the original $395,000, it is now 2.1 or $2.2 million?

MR. COYNE:  Correct.

MR. SHEPHERD:  Okay.  Do you have the most recent budget?

MR. COYNE:  I have a total through mid-February, so I guess that is quite recent.

MR. SHEPHERD:  Do you know what it is?

MR. COYNE:  I do.  The budget that was expressed in our proposal was for labour, and in addition to that was an allotment for expenses that were going to be on a cost basis.

MR. SHEPHERD:  $19,000, right?  Something like that?

MR. COYNE:  Pardon me?

MR. SHEPHERD:  19,000?

MR. COYNE:  Well, but those were going to be on a cost basis -- well, the proposal itself was written on a time-and-materials basis.

Are you looking for labour total or a grand total, with expenses?

MR. SHEPHERD:  Both.

MR. COYNE:  Labour, 2,162,076, and including expenses, 2,204,629.  And I would add that February is an estimate, but that is pretty close.

MR. SHEPHERD:  So that doesn't include this proceeding, the hearing?

MR. COYNE:  Well, up through last week.

MR. SHEPHERD:  Okay.

MR. COYNE:  Yes.

MR. SHEPHERD:  All right.  So the 2.1 or 2.2 million that we heard from Mr. Lister yesterday is probably on the low side at this point?

MR. COYNE:  I'm sorry, low side in what respect?

MR. SHEPHERD:  Well, that you are already passed that.

MR. COYNE:  Well, I am not sure if he was talking about labour or total, but this panel is due to conclude Tuesday, so I think it is probably quite close.

MR. SHEPHERD:  Good.  So your original role in this from the RFP was to provide evidence to support the productivity factor, right?

MR. COYNE:  Well, it's -- you are boiling down a 21-page proposal in one sentence, so it is broader than that.

MR. SHEPHERD:  Well, let me read to you from page 1 of the RFP:

"This RFP is specifically aimed at providing Enbridge with the evidence it will require to support the productivity factor for its new IR plan by performing a productivity study."

That is what you were asked to do, right?

MR. COYNE:  We were asked to do much more than that.

MR. SHEPHERD:  That was the original plan?

MR. COYNE:  Pardon me?

MR. SHEPHERD:  That was the original thing they asked you to do?

MR. COYNE:  Well, you yourself were reading from five different deliverables, and our proposal develops that into a much more defined set of scope

So again, I think you have to distinguish between what was asked in the RFP and what was in our proposal, because our proposal constituted the contract between my firm and Enbridge, not the RFP.

MR. SHEPHERD:  Okay.  So then, for example, where the RFP says on page 3 -- sorry, on page 2 and item 3, that one of your deliverables would be to "endorse the company's overall IR proposal," you never actually agreed to do that, right?

MR. COYNE:  No.

MR. SHEPHERD:  Similarly, when it says "to provide submissions on behalf of the company," you didn't agree to do that, except in the sense of an independent, you know, what you thought rather than what the company wanted you to say, right?

MR. COYNE:  That's correct.

MR. SHEPHERD:  Similarly, when it says "to represent the company as an expert witness," that was only in the sense of you saying what you thought, not representing them?

MR. COYNE:  That's correct.

MR. SHEPHERD:  Okay.  I want to then turn to your proposal, which is attachment 2 to this IR, and I will start on page 3 in which you say -- I better get my copy.  This is all marked up.

By the way, this is -- you wrote this proposal, right?  You personally?

MR. COYNE:  I did.

MR. SHEPHERD:  Yes.  And you say...

MR. COYNE:  Well, let me -- I had my -- I had colleagues that assisted me in writing this proposal, but my signature is on it, and --


MR. SHEPHERD:  It is your work product, even though people helped?

MR. COYNE:  I reviewed it very carefully, yes.

MR. SHEPHERD:  Okay.  On page 3 under item 2, you say:
"Concentric's approach to this assignment will be one that provides Enbridge with the substantial evidence required to effectively support the company's proposal for its next generation incentive regulation plan."

So you agreed that you were going to support their plan, right?

MR. COYNE:  I am trying to find where you are on the document.  I'm not --


MR. SHEPHERD:  Sorry.  Page 3 of the attachment, page 1 of your proposal, which is under II, the first sentence.

MR. COYNE:  Yes, okay.  I see you.

MR. SHEPHERD:  You see what I read there?

MR. COYNE:  I do, yes.

MR. SHEPHERD:  So you agreed to support their proposal, right?

MR. COYNE:  And the next sentence describes what I mean by that:

"We will capitalize on lessons learned from the prior IR plan, provide research on other plans adopted in North American jurisdictions, investigate and quantify an appropriate X factor for EGD's next plan, prepare expert evidence, assist the company with responding to stakeholders, and provide the benefit of our substantial experience to EGD's team in support of this effort."

So that is exactly what we meant by that.

MR. SHEPHERD:  In fact, you went on, on the next page, to say:

"Retention of an ongoing revenue cap..."

That is, and you talked about, the I-X revenue cap in here:

"... will therefore be a key issue in the development and support of the new plan."

So you were saying:  We will support an I-X plan.  Right?

MR. COYNE:  I'm sorry, I am still trying to see where you are reading on the next page.

MR. SHEPHERD:  The last sentence.

MR. COYNE:  Oh, the last sentence?  Yes, okay.  I see the sentence.

And the question is, I'm sorry?

MR. SHEPHERD:  And the question is:  So you -- I'm sorry, this is going more slowly than I expected.

What you were agreeing to do was to support a revenue cap I-X, right?

MR. COYNE:  I don't read that into those words.  I just say:

"Retention of an ongoing revenue cap will be a key issue in the development and support of the new plan."

So I am not sure if I am understanding your question.

MR. SHEPHERD:  All right.  Let's go to --


MR. COYNE:  The sentence before, it says:

"It is our understanding Enbridge is the only Ontario utility utilizing a revenue cap.  All others are using a price cap."

And the obvious conclusion to me was retention of an ongoing revenue cap would therefore be a key issue.  I felt as though that's something that Enbridge was going to have to defend.

MR. SHEPHERD:  So move, if you could, please, to page 7, 7 of 21.  Under item 7, it says -- and I am sure I am misinterpreting this: "We will endorse and defend the company's position on its proposed IR plan."

MR. COYNE:  Based on the results of the Concentric study.

MR. SHEPHERD:  So if their plan matches your study, you will endorse it?

MR. COYNE:  No.  It's based on the results of the Concentric study.

I think that, having heard the evidence in this case, I think it would be quite straightforward to conclude that we developed an I and we developed an X, and Enbridge has a different plan than our I and X.

So I am not sure how one would connect those dots, either in this paragraph or in the evidence as before this Board.

MR. SHEPHERD:  Well, we had a discussion at the technical conference in which I said to you that I -- my concern about your independence was that when they were doing I-X, you were ready to endorse it and support it, and now they're doing a five-year cost of service and you are willing to endorse it.

And I took your answer to be no, you endorsed I-X.  You are not endorsing their new plan at all, right?

MR. COYNE:  I recall the discussion, and I took issue with -- I believe you had characterized us as willing to support two different plans, an I-X plan and the plan that ultimately evolved.


And what I described then, and I guess I will restate now, is that we provided -- we provided Enbridge with the analysis around an I -- an independent analysis around an I-X.


The company looked at that I and looked at that X and found that it would not meet its objectives over the five-year plan.  And our analysis and study stands on its own merits.


MR. SHEPHERD:  So you are not here to support their plan at all?


MR. COYNE:  I am here to testify as to the analysis we did around their plan.  The company is the proponent of the plan, not Concentric.


MR. SHEPHERD:  Well, no, sorry.  My understanding is that you did an I-X and you have only ever supported an I-X, and you have said right here and you just repeated again you are not here to support a five-year cost of service, are you?


MR. COYNE:  Our role was broader than just an I-X.


I mean, as you read in your earlier remarks, ours was also to advise Enbridge on the forms of IR plans adopted elsewhere by other regulators, their plan parameters, and to assist them in understanding those plans, how they're developed, how they have worked, how they have evolved.


And all of that has been provided to Enbridge to assist them in developing this plan.  But it is their plan and certainly not the Concentric plan that is before this Board.


MR. SHEPHERD:  I would like you to go to page 52 of the technical conference transcript, if you could, please.  Sorry, my mistake.  It is page 51, I guess.  The numbers, when I printed it one day, were different than the numbers when I printed it the other way.


It is page 51.  You see starting at line 13 I asked you -- so you supported two different plans, and you said and I am quoting:

"Well, maybe I could correct the confusion, but our scope of work was to develop an I-minus-X, which we did.  That never changed.  And the I minus -- the I and the Xs that we've developed were considered by Enbridge, but they ultimately found that based on their capital projection, as we talked about, that it would not fit for them over the next five years.

"But our evidence never changed in that regard.  It was the company's position informed by our analysis that changed, but our position never changed."


So my conclusion from that - tell me whether this is wrong -  is that your evidence here should not be construed in any way as supporting a five-year cost of service plan, because you didn't review a five-year cost of service plan, did you?


MR. COYNE:  We reviewed -- well, I would disagree with your statement.


We did review Enbridge's plan.  They developed that plan back in the springtime, having the benefit of our I-X, as well as their own analysis, and they decided that our I-X simply didn't work for the company.  It did not work.  They needed to go back to the drawing board and consider what type of plan would work for them.


At that point in time, we had an expanded discussion with them about:  What other types of capital recovery mechanisms are there?  We had provided earlier information to the company around the types of capital recovery mechanisms that are used elsewhere in North America.


And it was, quite frankly, a roll-up-the-sleeves time for Enbridge.  This simply didn't work.


Our I was a fairly aggressive one -- excuse me, our X was a fairly aggressive one, and the I was justified based on our analysis regarding a robust inflation factor, and they did not work.


So at that point in time, we were asked to evaluate various capital recovery scenarios that might work in addition to an I-X plan, and you saw the capital recovery analysis that we did.


So we did evaluate their plan, but that is something that evolved around the April time frame, not from the outset.  I think going into this, Enbridge probably felt as though they were going to have a new I-X plan and our work was going to form a substantial portion of the evidence around that.


MR. SHEPHERD:  I am really confused now, because you made a point of breaking in to something else that we were talking about during the course of the technical conference to challenge my assertion that you approved two different plans, saying, No, we never approved two different plans.


So I don't understand.  Did you approve an I-X plan?  Are you approving a cost of service plan now?  I do not get it.


MR. COYNE:  Well, let me see if I can assist.


There was no I-X plan.  There was analysis that we performed around I and X to form the basis of a plan, but there was no I-X plan that was drafted, and then torn up.


It was an I-X that we submitted to the company and we provided an analytical basis around that they found didn't work for them.


The only plan that evolved is the plan that is before this Board today.


MR. SHEPHERD:  Madam Chair, I am trying my best but --


MS. CONBOY:  Thank you very much.  I appreciate that.


MR. SHEPHERD:  I probably have another 30 minutes on this.

MS. CONBOY:  So we will break for the weekend -- thank you very much for starting today -- and resume on Monday morning at 9:30.  Thank you.
--- Whereupon the hearing adjourned at 4:30 p.m.
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